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INSTRUCTIONS TO CANDIDATE

GENERAL :

This paper contains 180 Qs.

There is Negative Marking.

Write your Name, ID No. & Date in the space provided on this cover page of question paper.

The question paper contains blank space for your rough work. No additional sheet will be provided for rough work.
The answer sheet, machine readable Optical Mark Recognition (OMR) is provided separately.

Do not break the seal of the question paper booklet before being instructed to do so by the invigilator.
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Blank papers, Clipboards, Log tables, Slide Rule, Calculators, Cellular Phones, Pagers and Electronic Gadgets in
any form are not allowed to be carried inside the examination hall.

MARKING SCHEME :

1. This paper contains Single correct option, Sub option, Column Matching type and Diagram based questions.
Only one option is correct out of four given options. For each incorrect response, one-mark would be deducted.
3. In Physics : Q. 1-45 carry 4 marks each
InChemistry : Q.46-90 carry 4 marks each
In Biology Q. 91-180 carry 4 marks each
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Marks P
PHYSICS ars. “"Total Ques. | Attempted Unattempted Correct | Incorrect | Net Score
questions
Multiple Choice Questions
Question No. (Incorrect)
Question No. (Unattempted)
Marks P
CHEMISTRY ars. | Total Ques. | Attempted Unattempted Correct | Incorrect | Net Score
questions
Multiple Choice Questions
Question No. (Incorrect)
Question No. (Unattempted)
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questions
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Question No. (Incorrect)
Question No. (Unattempted)

TOTAL NET SCORE

1) Analysis of Wrong Questions

Reason for wrong questions

. No. of ti
(to be filled after you have attempted wrong questions on your own after the test) S BEQUERHis

Knew the question and solve after test but did wrong because of calculation mistake (A)

Knew the question and solve after test but did wrong because got confused and appplied wrong

conceant (3

Did not knew the question and couldn't solve even afier exam (C)

Total Number of questions attempted wrong

Note : If some of (A) & (B) is high then you need more practice and also read instructions more carefully whereas if
(C) is high it means the coverage of topic is not sufficient and you need to improve on it.

2) Analysis of not attempted questions : Divide the questions not attempted in 3 categories

Reason for unattempted questions

No. of ti
(fill after you have tried unattempted questions on your own after the test) b

Easy Questions (A)
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Circular Motion, System of Particles and Rotational Motion, Gravitation

A particle of mass m is moving horizontally
at speed v perpendicular to a uniform rod of
length d and mass M= 6 m. The rod is hinged
at centre O and can freely rotate in horizontal
plane about a fixed vertical axis passing
through its centre O. The hinge is
frictionless. The particle strikes and sticks
to the end of the rod. The angular speed of

the system just after the collision :

s
00 id
T T R S v
(a) 2v/3d (b) 3v/2d
(c) v3d (d)2v/d

A satellite of 10° kg mass is revolving in

4

circular orbit of radius 2R. If J energy

is supplied to the satellite, it would revolve

in a new circular orbit of radius :
(use g = 10 m/s>. R = radius of earth)

(a) 2.5R (b) 3R

(c) 4R (d) 6R

Two discs of moment of inertia I, = 4 kg m*
and I, = 2 kg m’ about their central axes &
normal to their planes, rotating with angular
speeds 10 rad/s & 4 rad/s respectively are
brought into contact face to face with their
axes of rotation coincident. The loss in
kinetic energy of the system in the process
is J.

(a) 247 (b) 257

(c) 267 (d)277

Q.1

Q.2

Q.3

TH $UT ford®dT g9 m2 98 afow @
I B & orFad v I | Ferdr g3l 3T
YET 2| B8 & gdH M=6m e 3R &
BS ® D= OW R @I @ 3R B B
A @ A @i farg aevRfEa @ afy
DU BS D ChHIBR 39D Udh BIX R faus
Wl ® 9 39 e &1 sivfi 1fa @1 w9
ST HRY |

Ma
0@ id
] v
(a) 2v/3d (b) 3v/2d
(c) v/3d (d)2v/d

10° fHaUT™ SaHE draT b SUUE 2R
3T &1 gAIeR HET ¥ TITHR A TET R |
10'R
6
qal g8 3 Bour @1 e geR dEr d
FFHRY AT (g =10 m/s* BT SUATT BN |
R = yedl &1 ) gg a8 frean g

(b) 3R
(d) 6R

Ife Suug &t J ol ¥ #Y WY,

(a) 2.5R
c) 4R

ietd 3Ol I =4 kg m® a1 I, =2 kg m?
D1 & aadl, W YT DL AT D AR
IR a1 3141 dail @ 3Ficiddd 8, HH2: 10
rad/s TUT 4 rad/s ®Y HIofT Tfr @ E[?ﬁﬂﬂ
BT 8, AT 39 {UIF A&  FIBHI0T W
JATFA—AT B | T8 TS 2 | 39 uihAr
¥ yorrefl &Y e worf ¥ w1 T @)

(b) 257
d)277

(a) 247
(c) 2673

31 Test Series 7@ &, NCERT @ freig &
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Q.4 The normal reaction 'N' for a vehicle of || Q.4 Ud 800 kg cIHTA arel ared @ forg, W 30°
g
800 kg mass, negotiating a turn on a 30° DI ST dlell Sd UR AfHdd §Hd i
banked road at maximum possible speed ¥ Y3 @ €, 3 feud afters wfafmar
without skidding is x 10° kg m/s’. 'N'__ x 10° kg m/s* BT
(Friction coefficient 1 =0.2) RS
(a) 102 (b) 7.2 (a) 102 (b) 7.2
(c) 124 (d) 9.96 (c) 12.4 (d) 9.96
Q.5  Assertion: When a particle moves in a circle [[ Q.5  ®F: Td P13 FHVT UHHAM I F I H FAA
with a uniform speed, its velocity and acceleration B, Ol SHPT 97 3R <R ST gl ol 8
both changes SR G T A e wwer e @
Regsoq: The cenfripetal acceleratipn in circular B 7 W) R axar &
motion is dependent on angular velocity of the body (2) BT AR HRT S A ¥ AR BROT FA
(a) Assertipn and reason both are true agd the BT TET TSR & |
reason is correct explanation of assertion. ) -
. (b) AT AR HRUT GFT T & olfdhT HRY
(b) Assertion and reason both are true but reason s 5 i e
is not correct explanation of assertion. DRl |
(c) Assertion is true but reason is wrong. (c) P T B Wb HRT ITerd & |
(d) Assertion and reason both are wrong (d) HAT AR BHROT AT ITeTd & |
Q.6  If a street light of mass M is suspended from || Q.6 X T M @1 (b ¥l @lgec @I L
Ll o i THEIS DI Uh GH H-cd dldl B d =1
the e.nd of auniformrod Of](‘I.lgthLlll different wqIf :ﬁ; ¥ 2 St
possible patterns as shown in figure, then: fra ¥ foamar T 2, ar:
Cafle Cafle Cable Cafle
Cable ! —
3/4
3/4
i 112
A B C
(a) Pattern A is more sturdy (a) aM{fd Afde #ogd ©
(b) Pattern B is more sturdy (b) T B e Aogd &
(c) Pattern C is more sturdy (c) AT C 1T #o1q &
(d) All will have same sturdiness. (d) & # U ST Fergedt BT
Q.7 Two bodies of mass 1 kg and 3 kg have || Q.7 1kgdT 3kg G4 drad <l sl @ Rerfar

position vectors i+zj+ﬁ and _35_2j+12
respectively. The magnitude of position
vector of centre of mass of this system will

be similar to the magnitude of vector:

gfeer S i+2j+k AR -3i-2j+k ® |
39 o @ gaawe o8 o Refa gfesr
&1 uiRErr few afeer & uREr & 99+
B

(a) 2i—j-2k (b) —2i-j+k (&) 2l fpeihe (b) -2i-j+k
(c) —i+j+k (d) —2i+2k (c) —itj+k d) 2i+2k
4] Test Series =& €, NCERT = =g !
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Q.8 In an experiment with a beam balance an || Q.8 & 4ol & 91 U WA A US I[E
unknown mass m is balanced by two known Tq- m Bl 16kg IR 4kg® & 4
masses of 16 kg and 4 kg as shown in figure. Al gRT Agfera far omar @ s f o
The value of the unknown mass m is: H T 1T & | I SR m BT A &
.. S £ . L & -
[16ke] [m] [16ke] [m]
—_l f2 . —_—1 2 n
(m] [4ke ] (m) (ke ]
(a) 10kg (b) 6kg (a) 10kg (b) 6kg
(c) 8kg (d) 12 kg (c) 8kg (d) 12 kg
Q.9  Assuming the earth to be a sphere of [| Q.9 Yodl &I VHEHA THE ©-d aTdT TiaAT
uniform mass density, a body weighed 300 N A §U. YAl @1 Was U 300 N AR ardm
on the surface of earth. How much it would s fUs i T&ﬁ @] |ag @ -4 R4 TI%?I?
weigh at R/4 depth under surface of earth ? Yt gHdI HIX foa-r ghar?
(a) 75N (b) 375N (a) 75N (b) 375N
(c) 300N (d) 225N (c) 300N (d)225N
Q.10 A horizontal platform is rotating with uniform || Q.10 TT &fror yca I dx 4 ET:R# qra
angular velocity around the vertical axis passing E‘éif'cﬂﬂ’\' G B AR AR THEHE BT a7
through its centre. At some instant of time a A o @ 2 | RN I 3 ) F@=EE m
viscous fluid of mass m is dropped at the centre ®T Uh I avd ugref ARmr omar @ ek
and is allowed to spread out and finally fall. The S B faar wmar @ iR ofaa: i e
angular velocity during this period ® | 39 3afs & SRME Hivfig 97
(a) Decreases continuously (a) IR Hedm 8
(b) Decreases initially and increases again (b) I% ¥ "edr 8 AR bR gear 8
(c) Remains unaltered (c) YRafeia I&ar &
(d) Increases continuously (d) IR §&dT &
Q.11 Two particles of masses m, and m, (m, >m,), || Q.11 &HT m, 3R m, (m,>m) & T BT, Al

initially at rest, move towards each other
under an inverse square law force of
attraction. Pick out thecorrect statement

about the centre of mass (CM) of the system
(a) The CM moves towards m,

(b) The CM moves towards m,

(c) The CM remains at rest

(d) The motion of CM is accelerated

e A O sawen § s €, gopd ol
o @ sTpdvr a9 @ dEd U gER DI AR
T B 2 | TP @ A d% (CM) B
IR A WEl HUA g

(a) CM,ml?fﬁ AR MY HRAT &
(b) CM, m @1 3R T HRT 8
(c) CM, faxT¥ sr@ver # &dT &
(d) CM, @I 7T @R 8l &

5]
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Q.12 Which of the following most closely depicts || Q.12 fr=iferiaa # 4§ &9 &1 faxd 341 R 3R
the correct variation of the gravitational WA S 9-1d dTcdl U 98 T8 & SR
potential V(r) due to a large planet of radius THedid fawa &oar V) @ b8l gRkad< ol
R and uniform mass density? (figures are not el B9 @ quiar 27 (s due w
drawn to scale) T &4 Y )
v(r) v(r) v(r) v(r)
[ - I
(a O ¥ () O (a) © (b) O
5 V(r
V() VU]R V(r) ( ]!—\
| B [N SR d 0 r
(c) ET d 0 T (©) of (d) T
Q.13 A thin circular ring of mass M and radius R RO M 3R R g
-~ _ ) MATHR g TP &fast da 4 S 38T
is rotating with a constant angular velocity 2 IRY R e ReR ST A7 2 rads? @
rads’in a horizontal plane about an axis 121 E{g TEI 2 Ol 39® ddl 9 @9dd & 3R
vertical to its plane and passing through the delg D% 9 BN ok @ | Af
center of the ring. If two objects each of mass %W m areft ﬁ‘é:fﬁ 3l Bl 9T D wg
: faodia ikl ux Fraer fear g,
m be attached gently to the opposite ends of -
i g_ % i p_p qay fea dIvflg 37 (2 rads? &) & 1A
a diameter of ring, the ring will then rotate e
with an angular velocity (in rads™). _
( M ) (M +2m)
- e
(a) v B2 ) Mm) M
(M +m) M
o © 2M @ 2(M+2m)
cy ——— ok e’
(C) - (d) M (M+ 2]11) M
(M +2m) M
Q.14 A disc with a flat small bottom beaker placed || Q.14 TS add), fT8® &5 ¥ R T W U& WUIC
on it at a distance R from its center is 3 i 2 3T 9 S ff
revolving about an axis passing through the ‘ )
center and perpendicular to its plane with an I B A IR AT I qA B dqqd
angular velocity ®. The coefficient of static HIofiRT 97 o9 qH W 2| fioY & g aAgT
friction between the bottom of the beaker :
Iad] DI qae o d1a ©ifad g€y [onsd p
and the surface of the disc is p. The beaker
will revolve with the disc if 2| fiov aadl & e gAT Aty
Hg He
R< R<—
@ R<LE o) R<tE (a) R< = (b) R<-5
Hg Hg
(c) R=12 @ R=EE © B230 S
20° o’
6l Test Series 7&i &, NCERT @1 fratg &1
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Q.15 A stone of mass m, tied to a string is bein Q.15 U®d grl 9 995 S m Udh gAY G
g g Y
whirled in a vertical circle with a uniform THEHT a9 SHeaieR g § AT Ol el
speed. The tension in the string is ®| ol # a9 @
(a) The same throughout the motion (a) uc:?[ T & SR Th FaTT
(b) Minimum at the highest position of the circular (b) TAHR T A T S Rerfdy W =g
path
ATHIR U2
(c) Mininmum atthe lowest position of the circular path (C)? SR SO il ISt T
(d) Minimum when the rope is in the horizontal A
position (d) =T & iferst Rerfa # 89 9R =gAdH
Q.16 A bob of mass ‘m’ is suspended by a light || Q-16 S ‘m’ &T TH dfq darg L' B U
string of length 'L'. It is imparted a minimum Fodl TTNT §RT ded! 81 39 698 Fraa
horizontal velocity at the lowest point A such ﬁg BERE® e farst a wrer fopar
that it just completes half circle reaching the GILE" 2, Rrew g dfifan Refa B a9
top most position B. The ratio of kinetic qgﬂﬁ @ ferg sem = E & | i
K.E.)
(KE) N B e
energies iS(KT-);: a (K.E.); o e
V.
A mg
(a) 3:2 (b) 5:1 (a) 3:2 (b) 5:1
(c) 2:5 (d)1:5 (c) 2:5 (d) 1:5
Q.17 Ifthere is change of angular momentum from || Q.17 3f& 5 dAHve A Sl WIT 1x @ 5x 9B
1x to 5x in 5 second Then the torque is : gRafda giar @ ar HFITEEUf BIIT:
3 b e 4x
(@) (b) (@ ®)
5x 5x i i
(c) 1 (d) None of these (c) 2 (d) 39 & @I 8l
Q.18 If the equation for the displacement of a || Q.18 AT JATPR U W IFHAM BT & fIemuT
pagticle ;noving on a Bil'cular path is given BT Gfidvor 0=2t+ 0.5 fear a1 8, Wer 0
as 0 =2t + 0.5, where 0 is in radians and t is R : M i :
in second. Then the angular velocity of the R q 2Tt 9%s ¥ & Al < 9P
particle at two second will be : W BT BT BIofid I B
(a) 36 rad/sec (b) 8 rad/sec (a) 36 rad/sec (b) 8 rad/sec
(c) 48 rad/sec (d) 24 rad/sec (c) 48 rad/sec (d) 24 rad/sec
d Test Series & &, NCERT &1 frais #!



N E ET k k E E India’s No.1 Choice .
@~ NEET kaka JEI part Test3  NCERT-FSTS Test Series for NEET
R Test Series ¢l NCERT @1 fials 2 1

Q.19 A body of mass 5 kg moving with a uniform || Q.19 5kg THH &T & fUs X-Ydd ¥ tpaaH
speed 32ms?inX-Y plane along the line A 32 ms? & ¥ y=x+4 b :’;I’r__[,ﬁ‘éT
y = x + 4. The angular momentum of the U HY YET 2 qd ﬁg + uRa: & &7
particle about the origin will be HIvir gar kg m’s? 2|
kg m?s.

a) 60 kg m*/s 65 kg m*/s
kg m?¥/ kg m?¥
(a) 60 kg m’/s (b) 65 kg m’/s
(c) 67 kg m*/s (d) 68 kg m’/s
(c) 67 kg m?/s (d) 68 kg m?/s
- k
Q.20 The mass density of a spherical body is given by || Q-20 T® MR s BT G+ o P(l')=;a
p(r) —E for r<Rand p(r)=0for r>R, wherer r<R & forg 2 drrar pa)=0, r>RgRT faar
. T 8, Of@l r 3% 9@ 0 2| 9El IR
is the distance from the centre. The correct graph YT HT B @ B D A q:\p[ ), 3
that describes qualitatively the acceleration, a of HeT ®T ¥ quiT Hear 2
a test particle as a function of r is:
t !
a
@ —\ ©)
H |
R TI—»
(d)
Ir'—»

Q.21 Two planetsA and B having masses m, and || Q-21 gl 98 A 3R B a1 g9 m, 3R m,
m, move around The sun in circular orbits Jé', $hHR: 1, 3R r, Broamasn ) ESIEDR
of r, and r,radii respectively. If angular SR ¥ qd & ARy X A ¢ AR A
momentum of A is L and that of B is 3L, the ®1 HIvfir waw L @ 3k B &1 3L, di

I I
ratio of time period| | is: [HY Iafer a1 Jgurda T 2
B
) 3 2 3
I, 2 rl rl ? [i]
— — a —
® [11] ®) [1’2] ()[rl] & L
1(m, Y m, i I m m, )
— | = L —| = 27| =
(c) 27[ = ] (d) 27[,112] © 27[1111 ] @ [mz]

Q.22 Escape velocity of a body from earth is 11.2 Q.22 tLa’Eﬁ € fodl fus &1 gargs da
kmy/s. If the radius of a planet be one-third the 1.2 ks 2 | AfY foedt 78 @1 Proa qﬁh
radius of earth and mass be one-sixth that of @1 Broar Y v fawrg v e qezﬁ @
earth, the escape velocity from the planet is: S BT BT AT &, Al 34 I8 § TR

I FAT BIIT?
(a) 11.2km/s (b) 8.4 km/s (2) 11.2 ks (b) 8.4 ks
(c) 4.2 km/s (d) 7.9 km/s (c) 4.2 km/s (d) 7.9 km/s
8 Test Series 7&f &, NCERT @1 fratg !
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Q.23 A ballis released from rest from Point P of a || Q.23 ek HﬂTf‘Q 1Y faea I MaeR sd9 &
smooth semi-spherical vessel a shown in ﬁg P9 Tdh g &l favmHmaeT 9 ‘c‘ﬁ@_T
figure. The ratio of the centripetal force and Whar g | ﬁg Q W 7T R IMHL 9 30X
normal reaction on the ball at point Q is A 31feis ufafpar &1 ST P 2 wafe ﬁg Q
while angular position of point Q is a with :
_ : s 5 @1 ivfig Rerfa fag P& e o2 | o
respect to point P. Which of the following i g
graphs represent the correct relation 7% Q § Ra® wirdl &, @l ﬁ":' 9 i
between A and a when ball goes from Q to AT UTH A 3R a @ 19 9 Geg qoriar 87
R?
P O i
R R
A A A A
(a) \ (b) (a) (b)
a a e o
A
Au A A A
(c) (d) (c) (d)
o ! o —&P o
Q.24 Assertion: The position of centre of mass of a || Q.24 wHY=: fF) fis & gaaaE By o Rl il &
body depends upon shape and size of the body. AR 3R AT W) R a3l &
::t:[ahseo:;nfrznii;efsiss of a body lies always RO 5 i &1 coE g shen fie @
y e R Rerd 81T &
(a) Assertl.on and reason bot}.l are true a]:.ld the (a) AR PR S T & 3R RO
reason is correct explanation of assertion. BT TS BT B |
(b) Assertion and reason both are true but reason (b) B2 R BRY SHI T 8 lfbd BRI
is not correct explanation of assertion. DA BT Hal WCIhT ol B
(c) Assertion is true but reason is wrong. (c) HUT H & olfchT BRI ITeld o |
(d) Assertion and reason both are wrong. (d) HA 3R HRY AT Teld & |
Q.25 A heavy iron bar of weight 12 kg is having || Q.25 12 kg aul< @ Te A @le 3| Bs & (P
its one end on the ground and the other on RRT ol wR 3R qaxT RRT v amet D
the shoulder of a man. The rod makes an e U IET AT © | Bs &R d 60° BT
angle 60° with the horizontal, the weight BT S 2, A gRT AgHa far
experienced by the man is: AR F:
(a) 6kg (b) 12kg (a) 6kg (b) 12kg
(c) 3kg (d) 643 kg (c) 3kg (d) 643 kg
9] Test Series & &, NCERT &1 frais #!
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Q.26 Suppose, the acceleration due to gravity at [[ Q.26 ¥ ofiferg, qaiﬁ P gdg WX EWQQUI EY
the Earth's surface is 10 m s and at the BT @ROT 10 m s 8 3 HITA B 9ds W
surface of Mars it is 4.0 m s2. A 60 kg IE 4.0ms? & | TP 60kg &1 A Tdh R
pasenger goes from the Earth to the Mars A7 9 Fdd gU Jiafer I 1 gedfy 9 Hird
in a spaceship moving with a constant UE AT 2, MHIY A =T aHY ER@SIT o
velocity, Neglect all other objects in the sky. ShEr o | o @1 ®i9 91 W 96wy @
\Vh.ich part of fig.ure .best represents the BT @ I 9 B 99T @;Tvl thw
weight (net gravitational force) of the wa) @) 3 S e faqr 27
passenger as a function of time?
weight
weight
) 600N
600N A
200N - /
200N -
® time
time \/ to
D
a) A B
(c) C (d) D (c) C (d D
Q.27 A curve in a level road has a radius 75m. || Q.27 U® WHdA AS® $I dp DI {39471 75m @ |
The maximum speed of a car turning this T gHIEaAR 9sa R a1 fhae s areft
curved road can be 30 m/s without skidding. BR B AfrHad A 30 my/s B GhdT 2|
If radius of curved road is changed to 48 m Ife gATaTR As® B roar 48 m R &
and the coefficient of friction between the Gy 1T SRR a1 9ed & drd ayor
tyres and the road remains same, then bR i 17 @, @ JfrpaT S S it
maximum allowed speed would be m/s. _ /s gl
(a) 30 (b) 24 (a) 30 (b) 24
(c) 34 (d) 40 (c) 34 (d) 40
Q.28 A particle of mass m is fixed to one end of a (| Q.28 THHI m &I Udh HUT Udh Tod RYUT & U
light spring having force constant k and RF g ST ﬁ' fora®r 9o Reie ke aar
unstretched length ¢ . The other end is fixed. e oerg fan Raa ¢ 21 EGA R
The system is given an angular speed o Rer 2| Froma &1 57 & Rer AR & IRt
about the fixed end of the spring such that it IR Hvfa T o & 1€ B, arfes a
rotates in a circle in gravity free space. Then ‘lﬁlﬂ“ﬁﬂ Hb AT RRT q< q E[ﬁ | fbx
the stretch in the spring is e 7 Raama @
mlo’ ml’ mlo’ mlo’
&) k—om ®) k +om’ ® k—om ® k+om’
o’ o2 mle’ mlo’
(€) —— (d)——— (©) (d) ;
k+mo k—mo k+mo k—meo
10] Test Series & &, NCERT &1 frais #!
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Q.29

Ratio of radius of gyration of a hollow sphere
to that of a solid cylinder of equal mass, for

moment of Inertia about their diameter axis

8
AB as shown in figure is \j;- The value of x

Q.29

T @iEd Mo &1 guid sar &1 99+
THE @ ol dad @1 guia Brear |

IqUId, Sd AT 38 AB & URd: v
st & feorg, st & fo 7 feamar a2,

ag\/gﬁlemm—-rwaﬁ:

is;
A
M ;
1
2R| | o ° °
l
€ 4R = 4R >
Diameter B Diameter
B B
(a) 67 (b) 68 (a) 67 (b) 68
(c) 69 (d)70 (c) 69 (d)70
Q.30 A stone tied to the end of a stringof 1 mlong || Q.30 1 Hfiex ¥l & o T & RN TR 98 TP TR
is whirled in a horizontal circle with a constant i
speed. If the stone makes 22 revolution in 44 1 b Rer wfa @ w1 & &faw q< H
seconds, Wh.at is the magnitude and direction 2| ol R 44 QFE § 22
of acceleration of the stone? 1
(a) m* m s and direction along the radius TIHY SACT 2, Al TR & avoT BT uRAm]
towards the centre. 3 faem 7T 87
(b) m*m s and direction along the radius away (a) 7@ m s AR Froar & 1o deg &) iR fem )
from the centre.
(c) mm s and direction along the tangent to WL <R R S L]
e EiEe: (c) ®m s 3R I W W T & g Qe
(d) % m s and direction along the radius (d) % ms23N BT & 912 2 $ N
towards the centre. femm
Q.31 Two blocks of masses 10 kg and 30 kg are [ Q.31 10kg TT 30 kg GAHH & <&l ilaif} HHIT:
placed on the same straight line with e ® (0,0) cm TAT (x, 0) cm HER @T TR
coordinates (0, 0) cm and (X, 0) cm respectively. E{C] LY 2110 kg D chl Bl S ¥ET W
The block of 10 kg is moved on the same line 6 9T FI {\P[ qas @—\\ T 3N o AT
through a distance of 6 cm towards the other T 2 | o & gaaH g &) Refa &t
block. The distance through which the block 3uRafda @ @ fav 30 kg @ Fa% &1
of 30 kg must be moved to keep the position g {‘ﬁ d o o 9nfRy 98 @
of centre of mass of the system unchanged is:
: 8 (a) 10kg e 2 AR 4 T
(a) 4 cmtowards the 10 kg block
10 kg [l H 4 HHI
(b) 2 cm away from the 10 kg block ®) = 8
(c) 2 cmtowards the 10 kg block () 10kgT 1 SR 2 WA
(d) 4 cm away from the 10 kg block (d) 10kg TcHT & 4 T R
11} Test Series &t &, NCERT @t fratg §!
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Q.32 A uniform disc with mass M =4 kg and radius || Q.32 G&HIM M=4Kkg 3R 31 R=10cm dTell
R = 10 cm is mounted on a fixed horizontal TP A a&d] &l a3 A ey Igar &
axle as shown in figure. A block with mass Rer dfaw q\ﬁ U XM AT 8 | S m=
m = 2Kkg hangs from a massless cord that is 2kg ATAT US &dlid U A Afed S 4
wrapped around the rim of the disc. During AT BT & Sl gl & IRl @ ant 3
the fall of the block, the cord does not slip ferad g_g g_' e & it & <, Sl ill
and there is no friction at the axle. The foererell 7€l i.‘ 3R q‘ﬁ W B wHT T
tension in the cord is _ N. (Take e & | S | T sl %I(l“akeg=10
g =10 ms?) s )
M
M
m
m
(a) 10 (b) 20
10 20
() 30 (d) 40 @) )
(c) 30 (d)40
Q.33 To project a body of mass m from earth's || Q.33 Yl T |uE | IFd TF TIHT m & fis
surface to infinity, the required Kkinetic B! YA dx @ fIv aavas Thie St
energy is (assume, the radius of earth is R_, :
: : 3 2 (19 o, gt 31 s R, @, g= gedl &Y
g = acceleration due to gravity on the surface
of earth) : HAE W [EABYU] & HRUT @RVI) :
(a) 2mgR, (b) mgR, (a) 2mgR (b) mgR,
1 1
(c) EngE (d) 4mgR (c) EngE (d)4mgR
Q.34 A light planet is revolving around a massive || Q.34 U® 8cdl Ug UP (AN dR & IRl AR
star in a circular orbit of radius R with a a1 R a0 qRATHR Bl ¥ uRepar 3rafer T
period of revolution T. If the force of 2 o T T
attraction between planet and star is
m -3/2 Wm Hﬁ
proportional to R3? then choose the correct T 9 RV B g @
option : fawer g:
(@) T’ c R () TR @ T2 R ®) T R’
(€) T2 R? (d) T2 R} (¢) T*«R*? (d) T’ <R’
12] Test Series @ §, NCERT @ fireiis &1
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Q.35 What will be the position of centre of mass || Q.35 T3 # <Y IFUR If F&dl & '0' 4|
from 'O’ of a half disc as shown in figure? TAHHE b &1 Rafa s s
0 ¢—a—p 0 #——G—pp
2 b 42 2 4
(@ (b) @ ®) 3
a o2 a e
@< @ 3, © @ 5,
Q.36 Assertion: The angular speed of the moon inits || Q.36 HAA: Yodl & =R AR Y- H&T H AT DI
orbit about the ea.rth. is more than the angular Bl TR, & & aRY SR o0 Bl § gy &
speed of the earth in its orbit about the sun. Frofrr IR 7 ot 2
Reason: The moon takes less time to move ] ] ]
around the earth than the time taken by the earth e SRt ?lﬁ 9l B E"ﬁ SR gedl
to move around the sun. AR G4 & IRT 3R AT H I dTel TG DY
o1 § D FHYI Il
(a) Assertion and reason both are true and the _%\r |
reason is correct explanation of assertion. () BT AR FROT AT T § AR BROT B
] BT 8l WL & |
(b) Assertion and reason both are true but reason _ “
is not correct explanation of assertion &) AR FR TN FA § ADT D
5 ' DA BT HEl WG 8] B |
(c) Assertion is true but reason is wrong. N
(c) BT T & clfdhT BRI eI & |
d) Assertion and reason both are wrong. i
@ g (d) T SR RO < o B
Q.37 For a particle in a uniformly accelerated || Q-37 T®HHIT ®©U 4 @Ra gl wfa § b ot
circular motion. ® fag)
(a) Velocity is radial and acceleration has both (a) T P & SR @RUT H X($Ta @R [Ria
radial and transverse components al Tch Bd &
(b) Velocity is transverse and acceleration has (b) I frdfd ¥ ok @xor F By @ik s
both radial and transverse components :
= Sl UCh BT B
(c) Velocityisradial and acceleration is transverseonly
() a7 Prodia & ok wRvr et [d® &
(d) Velocity is transverse and acceleration is
radial only (d) 9T 9 & 3R RO dael g 8
Q.38 A rigid body can be hinged about any point || Q.38 U 3& fUs I x-3ier W fbell 1 fdg wR Jyaeidr
on the x-axis, such that the hinge is at x. The fooar o wabar 2, 9N & x W acfad 8
moment of inertia is given by I = x> — 2x + 99. e Yl I=x*—2x+ 99 §RI f&m wmar 2|
The x-coordinate of centre of mass is S dg & x s @
(a) x=2 (b) x=0 (a) x=2 (b) x=0
(c) x=1 (d)x=3 () x=1 (d)x=3
13| Test Series @ §, NCERT @ fireiis &1
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Q.39 A disc is rolling (with out slipping) on a || Q.39 U ddhdl &fdl Wdeg W oed &l & ([{Ar
horizontal surface. C is its centre and Q and f¥el) | C SUST &% © 3R Q TT P,CH
P are two points equidistant from C, Let A g W Rera <1 fag & | 7 <fifig s
VP, Vq and V_be the magnitude of velocities Vps qu ¥, ﬁr‘..;, P,Q 4T C @ am
of points P, Q and C respectively, then & uReT €, at
a > > < < Q c P Q c P
(a) VQ V. 200 (b) VQ Ve <V, (a) Vo>V.>V, (b) Vo< Vo<V,
1 _ 1
(©) Vo=Vp, Ve = EVP (d)Vo=Vc=Vp (©) Vo=Ve,Vc= EVP (d)Vo=Vc=Vp
Q.40 A ball is spun with angular acceleration [[ Q.40 T® T &I HIvl @RI o =6t2 -2t 4
o = 6t* — 2t where t is in second and a is in AT STl 2, Wal t 9he ¥ 2 IR a
rads=. At t = 0, the ball has al.lg.ular velocity rads? ¥ 21 t=0 W=, AT PT BIfrRr AT 10
of 10 rads™ and angular position of 4 rad. . X
The most appropriate expression for the rads” @ X pivfia Rafd 4rad 21 AT 9
angular position of the ball is: aiofia Rerfar @ forg wad SRR wHiHRoT 2
3.4 .2 ¢ B 3¢ _e+10t T
(a) St =t +10t (b) - +10t+4 @ 3 ® —=3
2t P , B ke b
= sy c) ———+10t+12 (d)2t" ——+5t+4
() 5= *10t+12 (d)2t' ——+5t+4 (O (d) 5
Q.41 Assertion: For a system of particles under || Q.41 ®: $HEI da1 &3 & 3IfAId BUIN B Th
central force field, the total angular momentum JuITell & foTg, del IO HaT ERIAT 5 & |
is conserved.
. _ HIRVT: Wl T IR BRI &R dTell eraeel
Reason: The torque acting on such a system is I 2T &
zero
a) DU AR HROT S e 8 AR HROT HA
(a) Assertion and reason both are true and the @) )
. . . BT T8l WG B |
reason is correct explanation of assertion.
(b) Assertion and reason both are true but reason (b) F2 AR PRT THT WA & WAfdT HRY
is not correct explanation of assertion. BT T HE TEIHRT Tl & |
(c) Assertion is true but reason is wrong. (c) HUT H & olfchT BRI Ield o |
(d) Assertion and reason both are wrong. (d) HUA 3R BRI QI ITeld B |
14] Test Series 7&f &, NCERT @1 fratg !
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Q.42 A uniform thin metal plate of mass 10 kg with || Q.42 U& HHIH Udell CIGH Bl Wi f9aT gaq=
dimensions is shown. The ratio of x and y 10 kg 2 3R ™ SiET foa # fe@my [™ar
coordinates of centrer of mass of plate in ®, SUD GAAN DG I x 3 y sl
n . n
;-The value of n is DT JLUTd T JLUTA DT AT S T

& n &1 A9 2l
(0.2) prmmmmme 12 (3.2) ]
L Lty (0.2)
DSl UM ) (R iy =y
(0,0 (3.0)
(0.0
(a) 15 (b) 16
(c) 17 (d) 18 (a) 15 (b) 16
(c) 17 (d) 18

Q.43 Match Column-I with Column-II: Q43 @lcHIdl olcild Yaldd ox:

Column-I Column-I = -
E -1 Dl -11
(A) | Kinetic energy of planet | (I) GMm PTetd
= (A) | 7' BT TS Gt D | GMm
(B) | Gravitation  Potential | (II) GMm 2
energy of sun-planet 2a B) | gd—us e @1 o1 | () | GMm
system. SR eIt St 2a
(C) | Total mechanical energy | (II) | Gm (C) | 7& &I el Fifh Goil | (1) Gm
of planet r r
(D) | Escape energy at the | (IV) GMm D) | s&1s s=g9E arel avg | (IV) ~ GMm
surface of planet for unit 2a 3 forg U @ ¥as 9 72
mass object SRR
Where a = radius of planet orbit, r = radius .
of planet, M = mass of Sun, m = mass of - 9% Efﬁ?fﬂim @ . T=TE B
planet) Choose the correct answer &om the e o 3 i _m = el
: ; o) i fau U fAdedr 4 | |El STk
options given below: ;
ok
(a) (A)-II, (B)-I, (C)-IV, (D)-II
(a) (A)IL (B)-L, (C)-IV, (D)-III
(b) (A)-IIL, (B)-IV, (C)-I(D)- II
(b) (A)-IIL, (B)-IV, (C)-I (D)-1I
(c) (A)-L, (B)-IV, (C)-IL, (D)-III
(©) (A)L, (B)-IV; (C)-II, (D)-II
(d) (A)L (B)- 1L, (C)- III, (D)-IV
(d) (A)-L, (B)- 11, (C)- III, (D)-IV
15]
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Q.44 The torque of a force si+sj_7ﬁ about the | o 44 aaan’lq:uf Ol U 9ol Si\+33—711 qa G EG R
origin is t. If the force acts on particle whose
position vector is zi‘+2j+1}, then the value T | T o BT R B ! ¢ guaT f
of T will be: iR 20+2j+k 1 T DI HIA glid R |
Q.45 A solid sphere is rolling on a frictionless || Q.45 Y& 319 Mar fad & gy v gyor Afad
surface, shown in figure with a translational A8 YR IIETART 997 vi/s ¥ Jed 'l 2|
velocity v m/s. If it is to climb the inclined IfE 39 I g3 Ade WR 9e1 & dl vl A
surface then v should be : BT ARy
Ny oy
10 10
(a) 2,/ (b) >./2gh (a) 2y/—gh (b) >/2gh
10 10
(c) 2¢h (d)—-eh (c) 2gh (d)=—-eh
(SPACE FOR ROUGH WORK)
16] Test Series 7@, NCERT @1 fraig 1
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CHEMISTRY

Some Basic Concept of Chemistry, Structure of atom

Q.46 There are two common oxides of Sulphur, one || Q.46 e & <l HIHIYY Tadiss &, Rad 4
of which contains 50% O, by weight, the other TH ¥ 50% HIR BT a7 m T 60% AR 0,
almost exactly 60%. The weights of sulphur 211 UM ozﬁfgaa 3 qgad HEEGIGI
which combine with 1 g of O, (fixed) are in the HohRY & TR BT SHLING 2
ratio of - b
@ 1:1 ) 2:1 (a) 1:1 (b)2:1
(c) 2:3 (d) 3:2 (2] 3 (d) S

Q.47 When 10 ml of propane (gas) is combusted || Q.47 & 10ml W4T () &1 yeiaAT <& fHar
completely, volume of CO,(g) obtained in SITar 2, 91 A gRRIfRT § 9ta Co,(g)
similar condition is &1 AT BT -

(a) 10ml (b) 20ml (a) 10ml (b)20 ml
(c) 30ml (d) 40ml (c) 30ml (d) 40ml

Q.48 The chloride of a metal contains 71% chlorine || Q.48 Tl aTg & FAITS H 71% FANNT & aAT
by weight and the vapour density of it is 50. TUDT 919 U-cd 50 2 | €T BT URHAIY] AR
The atomic mass of the metal will be (valency FT BT (g P GIToHar 2 ) .-
of metal is 2) - (a) 29 (b) 58
(a) 29 (b) 58
(©) 355 @ 71 el alns (d) 71

Q.49 A reaction required three atoms of Mg for two Q49 T JMHHAT A NS A WHTUlBﬁ @ fera Mg

@ o uRAIvR @Y rawadar sidt 2 | At
atoms of N. How many gm of N are required
i : Mg @ 3.6 9™ & fod feat 9 N @Y
for 3.6 f Mg ? (Mg -24g N-14
or 3.6 gm of Mg ? (Mg -24g gm) Iraegddar g7 (Mg -24g N-14 gm)
(a) 243 (b) 4.86 (a) 2.43 (b)4.86
ORE (d) 929 () 1.4 (d) 4.25

Q.50 The mass of 2 gram atoms of calcium (Relative || Q.50 Hfezrw & 2 UMW qqqrulsﬁ' BT oA &
atomic mass = 40) @mifere wREfdaa g = 40)

(a) 2g (b) 0.05¢ (a) 2g (b)0.05 g
(c) 0.5¢g (d) 80¢g (c) 05¢g (d) 80g

Q.51 The number of molecules present in 88 g of |[[ Q.51 CO, @ 88g H IuRe™ SFUJ,HT D gE&T 2
CO, (Relative molecular mass of CO, = 44) (CO, @1 Imufere s gorw= =44)

(a) 1.24 x 103 (b) 3.01 x 10% (a) 1.24 x 102 (b) 3.01 x 103

(c) 6.023 x 10* (d) 1.2046 x 10* (¢) 6.023 x 10% (d) 1.2046 x 10

. 2+ - . i - -
Q=2 Th:l’ g“mb"é ‘:;C_as :l“d folu mnds ;’:};;e“i(::: Q.52 Y CaCl, ¥ faem™ Ca* qAT CI- 3MF=
X * B

::sgeclt‘(;::lyaﬂ:;sw;ﬂght of ti;lne al;hvdl'ous blNduid S S

il i 2 Y&s T BT 9R B -

(a) 40 g (b) 55.5g (a) 40g (b)555¢

(c) 222¢g d) 755¢ (c) 222¢ (d) 75.5¢

17] Test Series 7@, NCERT @ frag 1
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Q.53 The largest number of molecules is present in || Q.53 33l &I waifere W= f<1 # IuRera &
(a) 34 gof H,O (b) 28 gof H,O (a) 34 g® H,0 (b)28g® H,0
(c) 46 g of CH,OH (d) 54 g of N,O, (c) 46g® CH,OH (d) 54 g% N,O,

Q.54 Two oxides of a metal contain 50% and 40% || Q.54 ©Tg & <l JATaATZS] d HHIA: M €1 50%
metal M respectively. If the formula of the first AT 40% faermm= i<l 2 | afe vy sifavrss
oxide is MO,, the formula of the second oxide @1 A MO,? dl {(ﬁ JiaISS BI AT
will be - fre -

(a) MO, (b) MO, (a) MO, (b) MO,
(c) M,0 (d) M0, (c) M,0 (d) M,0,

Q.55 Which of the following has the least mass ? Q.55 T o 1 vt warmm =W @ —
(a) 2 g atoms of nitrogen (a) TELISTT & 2 g IRATSA BT
(b) 3 x10** atoms of carbon (b) BIET T 3 x10% WA
(c) 1 mol of sulphur (c) HEBR @ 1 HICT Bl
(d) 7.0 g of Ag (d) Ag® 7.0 gHI

Q.56 The volume occupied by 7.23 x 10% molecules || Q.56 0°C TT 1atm 319 UX Bl SIHIATTATSS B
of carbon dioxide and 3.01 x 10* molecules of 723 x 102 3[0131}' aaT 3 & 3.01 < 102
Argon at 0°C and 1 atm pressure is - a,rnlgﬁ‘ IRT =R 147 I & —-

(a) 38 mL (b) 3.80L (a) 38mL (b) 3.80L
(C) 3.8 x 10*mL (d) 38 x10°mL (C) 3.8 x 10* mL (d) 3.8 x 10° mL

Q.57 3 gm of Mg is burnt in a closed vessel || Q.57 3gm Mg ®! 3 gm ATFA 9Tl §€ =T A
containing 3 gm of oxygen. The weight of SISTT ST & dl 9y 3nferqy siffed s &r
excess reactant left is - AR 8IT —-

(a) 0.5 gm of oxygen (a) 3T & 0.5 gm
(b) 1.0 gm of oxygen (b) 1.0 gm AT
(c) 1.0 gm of Mg (c) Mg@® 1.0 gm
(d) 0.5 gm of Mg (d) Mg@® 0.5 gm
Q.58 0.54 gm of metal “M” vields 1.02 gm of its || Q-58 =TT "M" % 0.54 gm TS ITFAES M,0, P
1.02gm<d ® dl “M” ST URHATY] HIR
oxide M,O,. The at. wt. of metal “M” is - £ . ) e
(a) 9 (b) 18 (a) 9 (b) 18
(c) 27 (d) 54 (c) 27 (d) 54

Q.59 25 g of NaOH is dissolved in 50 mL of water. || Q.59 25 g NaOH, 50 mL qlel i @T\’ﬂﬂ g1
The molarity of the solution is oo &) Arerar gt —

(a) 12.5M (a) 12.5M
(b) 12M (b) 12 M
(c) 24 M
(c) 24M
(d) 25M
d) 25M
18] Test Series @ §, NCERT @ fireiis &1
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Q.60 The density of 2.45 M methanol solution in || Q.60 <& ¥ 2.45M HeiaTd fdaas &1 &9
water is 0.9766 g¢ mL~. The molality of the 0.9766 g mL* @ a1 faeras &) wiereral
solution is Bl
(a) 27.3 (b) 2.73 (a) 27.3 (b) 2.73
(c) 2.45 (d) 0273 (c) 2.45 (d) 0.273

Q.61 Density of 3M Na,CO, solution in water is 1.2 || Q.61 W& #  3M Na,CO,faqas &1 wrica
g mL™. The percentage by weight and ppm of 12gmL? &, ar Na,CO, &1 AR yfoera ar
Na, CO, are respectively - ppm shHIT: -

(a) 26.5 and 2.65 x 10° (a) 26.5TAAT2.65 x 10°
(b) 2.65 and 2.65 x 10* (b) 2.65 AT 2.65 x 10*
(c) 265 and 2.65 x 103 (c) 265TAT 2.65 x 10°
(d) 5.23 and 2.65 x 10 (d) 5.23 AT 2.65 x 10°

Q.62 Mole fraction of methanol in its aqueous || Q.62 A\ B gD AT fae= § #ier UwTH
solution is 0.5. The concentration of solution 05 & o AAd4Td & <HHE gRT gyfa9d &
in terms of percent by mass of methanol is U<t ¥ faorasr &1 9r—<dr st —

(a) 36 (b) 50 (a) 36 (b) 50
(c) 64 (d) 72 (c) 64 (d) 72
Q.63 Wavelength of radio waves is - Q.63 AT aRM B AR oA B -
(a) <microwaves (b) > microwaves (a) < ATSHI AOFM - (b) > ATSsHT AN
(c) < infrared waves (d) < u.v. rays (c) < ARWad Al (d) < UREIHT fhrom

Q.64 A certain radio station broadcasts on a || Q.64 T®H A B 980 kHz (fFreieds )Hﬁallqlul
frequency of 980 kHz (kilohertz). What is the BT YHRYI HRAT @ | D5 gRNT ya1Rd fagga
wavelength of electromagnetic radiation R fafewer 31 a3 It @ i
broadcast by the radio station ? (a) 306m (b) 3.06 m
(a) 306m (b) 3.06m
(c) 30.6m (d) 3060m (c) 30.6m (d) 3060m

Q.65 The wave number of the first line of Balmer || Q.65 TBISSIG & YH R Hvfl & =T dw&ar
series of hydrogen is 15200 cm™. The wave 15200 cm? ® @@ Li* 39 &Y 9H PR
number of the corresponding line of Li** ion is goft d1 AT w1 BT -

(a) 15200 cm™ (b) 60800 cm™ (a) 15200 cnr? (b) 60800 cm
(c) 76000 cm™ (d) 136800 cm™ (c) 76000 cm (d) 136800 cm!

Q.66 In hydrogen spectrum, the series of lines || Q.66 gﬁ-&ﬁa—r{ ﬁa@rq 1‘1"' ﬁgﬂ ii[,ﬁrcfﬁt[ ﬁa@'q
appearing in ultra violet region of ® WA G371 § ydhe &89 drell @13 B
electromagnetic spectrum are called - fofy HEardl 2 -

(a) Lyman lines (b) Balmer lines (a) SMZAA Y@V (b) IR Y@
(c) Pfund lines (d) Brackett lines (c) YIpUs @y (d) B 3@

Q.67 To which electronic transition between Bohr || Q.67 Beglod ¥ aR dadl & Hey o & 9
orbits in hydrogen, the second line in the DIFT SAdg 1P GHHvT, PR Ao 7 fgdfa
Balmer series belongs ? RET 9 defera gar &

(a) 3 > 2 (by4 52 (a) 3 » 2 (byd - 2
(€52 (d) 6 -2 ()52 (d) 6 - 2
19] Test Series 7@, NCERT @ frag 1



Q.68 The ratio of the radii of first three Bohr orbits || Q.68 Y2r i< dIex H&l &I AT ST UM 2
" (a) 1:05:3 (b)1:2:3
(a) 1:05:3 (b) 1:2:3
(c) 1:4:9 (d) 1:8:27 (c) 1:4:9 (d) 1:8:27
Q.69 The frequency of first line of Balmer series in || Q.69 FHES R URHTI] BY TR SA0ft B g2 XET
hydrogen atom is v,. The frequency of Gl SrIT:[ﬁ'l v, ® | Thd mafaa faefaw HeY)
corresponding line emitted by singly ionised URHAIV] GIRT AET X1 Scafoia & 9) Arghr
helium atom is - Bl -
(a) 2v, (b) 4v, (a) 2v, (b) 4v,
(c) v,/2 (d) v, /4 (c) v,/2 (d) v/4
Q.70 The ionization energy of hydrogen atom (in the || Q.70 BISZIGI{ UHIY] (AT IJARRAT A) P AT
ground state) is x kJ. The energy required for FHoll xkJ € 9 gAHET & TR &P A
an electron to jump from 2nd orbit to the 3rd TR ®ee § @ & oy smawes ot
orbit will be - F e
(a) x/6 (b) 5x (a) x/6 (b) 5x
(c) 7.2x (d) 5x/36 (c) 7.2x (d) 5x/36
Q.71 In two H atoms X and Y the electrons move || Q.71 T H Wﬂlaﬁ FXaaATY Eﬁﬂfff—rl $HHI T
around the nucleus in circular orbits of T 4r e @ qareR HHPDI H AMND
radius r and 4r respectively. The ratio of the D IRl AR FFHI I & | O TP 'ELUFI T’f
times taken by them to complete one B A S gRT ford ™ 9HA BT SR
revolution is - =1 8-
(a) 1:4 (b) 1:2 (a) 1:4 (b)1:2
(c) 1:8 (d) 2:1 (c) 1:8 (d) 2:1
Q.72 If threshold wavelength (1°) for ejection of [| Q.72 afX &g A AT FFdeq & fag Az
electron from metal is 330 nm, then work airesd (A% 330 nm ?, al g aiﬁr
function for the photoelectric emission is - Sguid & forv ol B o= gl —
(a) 1.2 x 1078] (a) 1.2 x10"J
(b) 1.2 x107°J (b) 1.2 x 107°J
(c) 6x107] (c) 6 x101°J
(d) 6 x 1072J (d) 6 x1012J
Q.73 Light of wavelength A shines on a metal surface || Q.73 Aavireed &1 gHTT gIg ¥ds WX x dgar &
with intensity x and the metal emits y electrons TR FHGAT © | H1q, gt ®vs z sitaa sut
per second of average energy, z. What will Dy geidgld Safsid dRaT e |y dz § &1
happen to y and zif x is doubled ? ﬁvnqﬁxqﬁa—alma,—\rmm ?
(a) y will be doubled and z will become half (@) y a‘pl:n T z AT &1 SR
(b) y will remain same and z will be doubled (b) y FAM Y& z SRLAT BT SIRAT
(c) Bothy and z will be doubled (c) ya 2 M I B WHH
(d) ywill be doubled but z will remain same
(d) y ST UR=J z AT B
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Q.74 A 200g cricket ball is thrown with a speed of [| Q.74 A 200g @1 fhdc dfd Wl 3.0 x 10° cm sec?
3.0 x 10° cm sec’. What will be its de Broglie’s 37T 4 P T B | IAB! SI-FTTAT
wavelength ? [h = 6.6 x 107" g cm? sec™] a¥maed BT [h=6.6 x 107 g cm? sec)
(a) 1.1 x1032cm (b) 2.2 x 1032 cm (a) 1.1 x 10** cm  (b) 2.2 x 107 cm
(c) 0.55x 10 cm (d) 11.0 x 102 cm (c) 0.55x1032cm (d) 11.0 x 1032 cm
Q.75 If uncertainty in the position of an electron is || Q.75 Af¥ saag = @ Rafa & afR=aar YA 2
zero, the uncertainty in its momentum would qal S9® 9a @1 rRP=aar sft
e (a) Zero (b) < h/(4m)
(a) Zero (b) <h/(4m)
(©) > h/(4m) (d) Infinite (c) >h/(4m) (d) Infinite
Q.76 Which of the following statements is incorrect? || Q.76 =1 ®I=ar Teg | =& &
(a) Probabilities are found by solving Schrodinger (a) SNFETR TET FAIBROT DI &l BT o UTTADHAT
wave equation 1 F o ®
(b) E1.1ergy Oijthe electron m a.n aton.l at infinite (b) ST T SOIGRT FoTt I B
distance is zero and yet it is maximum o .
_ (c) Uh dd & HB WdgH Y@ FHAM a3
(c) Some spectral lines of an element may have . Y
the same wave number e Bl i §
(d) The position and momentum of a rolling ball (d) Gl T2 @1 ReIfey T AT F1 AT
can be measured accurately FeIdT ¥ fHar S Fehar 7 |
Q.77 Which of the following statements concerning || Q.77 AR daicq W& & WaH H PIdl BT
the four quantum numbers is false - Ted ®
(a) ngivesidea of the size of an orbital (a) n PEH b IMBR Bl AN &
(b) lglve.s the shape of an orbital | (b) 1 e 2 oy B e £
(c) ms gives the energy of the electron in the
orbital in absence of magnetic field (c) m H&DH H Seldel Dl &l <9l 8
d) ms gives the direction of spin angular : N
@ mon%entum of the electron in anporbitaig (DS s elTR (T ™ el ikl o
Q.78 The manganese (Z = 25) has the outer || Q.78 W-IG (Z=25) &1 &I dreqad 4= &
configuration 48 e— 3 —,
4s c g @ [N] [N]T[T[T][T]
@ [T1] [(R]T[T[T[T]
B e L o 4s < 3d >
® 7 AT (4] PP
e d o 45 3d ——
© 17 (R ] ] @[N] [N[TH[T] | ]
Ty 30— & s 3d ——
(d)D\’I‘L|’I‘¢|T|’I‘|T| (d)DHHN‘”””
Q.79 Which transition of electron in the hydrogen || Q.79 BISSIGIT WY 3§ SATLT BT HITHAT HHAUT
atom emits maximum energy - AfSremad Sl Swafsia Har 2 -
(a) 2 —»1 (b) 1 -4 (a) 2 1 (b)1 -4
(c) 4 -3 (d) 3 2 (c) 4 53 (d) 3 52
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Q.80 The ratio of the wave lengths of last lines of || Q.80 d/HX Ud arza+ Avfy &) fvaw Y@=y &)
Balmer and Lyman series is - TR A BT UM -
(a) 4:1 (b) 27:5 (a) 4:1 (b)27:5
(c) 3:1 (d) 9:4 (c) 3:1 (d) 9:4
Q.81 Consider an electron which is brought close || Q.81 TU&® sc-?crg\lﬂ Bl 3T ?:;ﬁ kil 9] DY
to the nucleus of the atom from an infinite e & Fde T WA a9 sAdeTH ATS
distance, the energy of the electron-nucleus T F1 Holl-
RS (a) g0 (b) T
(a) Increases (b) Decreases _
(c) Remains same (d) None of these (c) WA &h ® (d) F79 | DI Tel
Q.82 The ratio of time periods in first and second || Q.82 =ErZgIvH RHTY] AR LR @ﬁ HETIN D
orbits of hydrogen atom is - 3Tad Bl BT Jurd g
(a) 1:4 (b) 1:8 (@) 1:4 (b)1:8
(c) 1:2 d 2:1 () 1:2 d) 2:1
Q.83 Of the following, which of the statement(s) || 9.83 fr=forfRag & &9 € Fu= aisY g @
regarding Bohr theory is/are incorrect ? wed ¥ Taa @ ?
(a) Kinetic energy of an electron is half of the (2) ToFEH @ TR ot Rerfe ot @
magnitude of its potential energy amet BT B
(b) Kinetic energy of an electron is negative of (b) T 2 TR ot T FeT A &
total energy of electron =
A SRTER Bl B |
(c) Energy of electron decreases with increase ]
in the value of principal quantum number (c) A FaAEH WA % T W TG Bl
(d) The ionization energy of H-atom in the first 8
excited state is the negative of one fourth of (d) RrA ST BIFRIST URATY BT AT AHqeT]
the energy of an electron in the ground state @ Th IS HOTHD A § IR B |
Q.84 Frequency ratio between violet (400 nm) and || Q.84 ¥ WagH #, dh (400 nm) IR
red (750 nm) radiations in the visible spectrum, (750 nm) fafe=on & wey 3]17:[|2ﬁ Jgurd g -
is -
(a) 8/15 (b)4/15
(a) 8/15 (b) 4/15 _ _
(c) 15/8 (d) None of these (c) 15/8 (d) 374 9 DT Tl
Q.85 The orbital angular momentum of an electron || Q-85 2s ®&TH H, gddgld &1 sivflg gaa
in 2s orbital is - 2
(a) e (b) Zero (a) 2 m (b) 7
h h h h
S il — G
© 2n @ \/_271: © 2n @ \/_271:
Q.86 Calculate the wave-number of lines having the || Q.86 5x 10*cycles Uil AHvs MGRT aTell @3
frequency of 5 x 10 cycles per sec - @Y TGN &A1 ST DN -
g m-! 7 -1
(8) 1.666 x 10°m™  (b) 1.666 < 10" m (2) 1.666 x 10° " (b) 1.666 x 107 m
(c) 1.606 x 10° m™ (d) 1.665 x 10° m™
(c) 1.606 x 10 m? (d) 1.665 x 10° m™!
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Q.87 An electron has a speed of 30,000cm sec! || Q.87 TUd sﬁﬂﬁﬁ ®T 9T 30,000cm sec’! foragaT
accurate upto 0.001%. What is the uncertainty yIfe &1 gfaed 0.001% 2 | gaaT Rerfa §
in locating it's position. AfTRETdr ara & |
(a) 1.93cm (‘b) 2.94 cm (a) 1.93 cm (b) 294 cm
(c) 0.4cm (d) 1.40 cm (c) 04 cm (d) 1.40cm

Q.88 Which one of the following atomic model || Q.88 fr=fearfRaa ¥ & &1 w1 wHY] & WagH
successfully explained the spectrum of @ qum‘qgﬁf HHSIT 97497 ©
Hydrogen atom. . .

YaXthls Dl Hlscl
(a) Rutherford Model ®)
(b) Bohr's Model (b) dIER T HSe
(c) De Broglie Model (c) f$ #fell @1 Hise
(d) Schrodinger's Model (d) HNSTR BT Higa

Q-89 The number of possible orbital in the n =4 (| Q.89 n=4Fof wWR ¥ URHTIY " guarfaa saran
energy level of an atom is ‘@Y g&T fea B8R
(a) 4 (b) 16 (a) 4 (b) 16
(c) 8 (d) 32 (c) 8 (d) 32

Q.90 If the ionization energy of a hydrogen atom is || Q.90 ufX sgiggluid uxdHIv] &) J™ANDd SHuil
13.6 ev, what is the frequency of radiation 136eve d BISSIOA UHI P smafra
required to ionize the hydrogen atom & @ forg amavas fafeeor "’Trc[ﬁ et

: - gl
(a) 3.28x 10°Hz (b) 544 x 10" Hz
(a) 328x 10 Hz (b) 5.44 x 10*Hz
15 16
(c) 6.87x10"Hz (d) 1.02 x 10" Hz () 687 x 105Hz  (d) 1.02 x 101 Hzs
(SPACE FOR ROUGH WORK)
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BIOLOGY

Morphology of Flowering Plants, Anatomy of Flowering Plants,
Sexual Reproduction of Flowering Plants

Q91 [+ 4 4 fedqr Enadl vsizig 9
Haftra 87 IAwe, HHER, GOl B

Q.91 How many belong with inferior ovary
— guava, cucumber, ray florets of sunflower,

plum, rose, peach, chinarose, brinjal IR, IeH (dR), [elE, TS, [Sed, 47
(a) 4 (b) 3 (a) 4 (b) 3
(c) 2 (d) 1 (c)2 (d)1

Q.92 The given transverse section is of : Q.92 fear = alj?fﬂf @I feas! yalRia axar 2

Root hair
Epidermis

Cortex

Endodermis
Pericycle
— - Protoxylem

= Mectaxylem

“~ Phloem

AP
(a) Monocots stem (b) Dicot stem (a) THdIUAl = (b) TEdIST9= a1
(c) Monocots root (d) Dicot root (c) ThdISI=T Hel (d) fadioa=n qe1
Q.93 Assertion: Pith is large and well developed in || Q.93 @2: UahdIviu=l il # Uy ¥l 3R =
monocotyledons roots. WE ¥ AT siar & |
Reason: A large number of rounded, BROT: oie d U o= ¥ 8Kl & 394 MelldR
parenchymatous cells with large intercellular UNBTSH BINTHIY Bl & 57 DIEGRI & a9 §
spaces which occupy the central portion of the 3TORT HIPIHIT =& BT & |

stele constitute the pith.

(a) HU AR BRI A GG & 3R HROT HAA
(a) Assertion and reason both are true and the FT G TEHIT & |

reason is correct explanation of assertion.

(b) HUF IR BHRY GHI T & clih BRI
HUT BT Wal IR 8] & |

(c) BAT T & <lfchd BRI IeTd B |

(b) Assertion and reason both are true but reason
is not correct explanation of assertion.

(c) Assertion is true but reason is wrong.

(d) Assertion and reason both are wrong. (d) P2 SR PBIROT ST Terd & |

Q.94 In monocotyledonous plants the primary root || Q.94 U&dIGu=ll ulel & yriffie qo srcury gl

is shortlived and is replaced by a large number B, 39 W W) 3A® ﬂ\ﬁ feadt 8, 3
of roots originate from base of the stem and LG a1 P IR 9 Fdod! 8, a7 g971dl &
constitute :

(a) THAT T T (b) HBST el T

(a) Tap root system (b) Fibrous root system

(c) Aerial root system (d) Adventitious root (c) ardIT F&T T (d) e TS
Q.95 The female structures of angiosperms are || Q.95 aﬁﬂﬁm B AIGT XTI HEATd

called and they produce T ar 3 AT B B:

(a) Sepals, Ovules (b) Anthers, Pollen O EIRESACISIES] (b) YH¥ER, WRITHIT

(c) Carpels, Ovules (d) Anthers, Sperms (c) STRT, dIeve (d) YhER, IHI0]
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Q.96 Two lateral petal (wings) present in which Q.96 i gsq el fomg & 1 uredt e

type of aestivation
(a) valvate (b) twisted

(c) imbricate (d) vexillary

9ufera 8id @ ?
(a) DR
(c) DRBTAI

(b) @mEfia
(d) Aafierdy

Q.97 Specialised epidermal cell surrounding the Q.97 & HINTHRN & IRl dv® SuRed faay
guard cells are called : 918l a4 Hﬁﬁm HEATd B :
(a) Subsidiary cell (b) Buliform cell (a) WBTIDh BIBT  (b) GellhiH HIfSThT
(c) Lenticels (d) Complementary cell (c) drd =<1 (d) R BIT3rehT
Q.98 In this diagram X shows : Q.98 39 fum # X ysRRfa &xar ? :
A X
P ;{’ f '“] I/—\'ﬁ Mg B
g L}Q}}
(a) Hilum (b) Seed coat (2) BRI (b) §iT =irer
(c) Endosperm (d) Cotyledon (c) Yoy (d) 9=
Q.99 Match the items in Column-1 with those in || Q.99 W™ -I® "cadl &I ¥ -II ¥ giAfad
Column-II select the correct option. Y 8l fadcu &1 g-ra sifoe—
Column-I Column-II Column-I Column-II
i. Funicle A. Small opening of i. dflavs g A. €S &1 @ BiCT
ovule &R
ii. Integuments B. Stalk of ovule ii. AT B. diGve &1 q-d
iii. Hilum C. Protective envelopes iii. TS C. firvs &1 RETHD
of ovule S IGE]
iv. Micropyle  D. Junction part of ovule iv. dleiivegRk D. diSvS 91 g0 &I
and stalk RSDIES
(a) i-B, ii-C, iii-D, iv—A (a) i-B, ii—C, iii-D, iv—A
(b) i-A, 1i-C, 1ii-B, iv-D (b) i-A, ii-C, iii-B, iv-D
(c) i-B, ii-C, iii-A, iv-D (c) i-B, ii-C, iii-A, iv-D
(d) i-B, ii-D, iii-C, iv—A (d) i-B, ii-D, iii-C, iv—A
Q.100 Assertion: In dicotyledonous stemopen vascular || Q.100 ®2: fadioa= = 4 el HIe-1l d8dl AlSla
bundles are present. B9 &1
Reason: Cambil.ml is present betv.Vt.een phloem BROT: HFEGIH Tellvd AR Sgerd & € e
sieke il e S Rt s T 80K B Wiseit ol Vsl
_ Sdd A DI AT BIell &
(a) Assertl.on and reason bot].:l are true al?d the (a) U SR BRI A T & 3R HROT B2
reason is correct explanation of assertion. — f 3
(b) {Xssertionandreasonb.otharetrue]:?utreason (b) BT AR HR A Gd & oAb BRI
is not correct explanation of assertion. B BT TET PR T R |
(c) Assertion is true but reason is wrong. (¢) T AT ¥ b HRT e B |
(d) Assertion and reason both are wrong. (d) B 3R BROT AT Teld B |
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Q.101 Casparian strips are present in : Q.101 dwd+ ufgar Sufkera gt 2 :
(a) Endodermis (b) Epidermis (a) oT: g1 (b) g18g =T
(c) Pericycle (d) Cortex (c) WraTgdel (d) dehe
Q.102 How many statement are correct about || Q.102 ¥d B T B ferg fpas @ wE & —

Regions of Root
(i) All type of Roots are covered by root cap.

(ii) Meristematic Region cells are very
small thin secondary wall and dense
protoplasm

(iii)Elongation Regions
formation of new cell.

Helpful for

(iv)Maturation regions
absorption of water.
(v) Thread like branched structure is called

helpful for

root hair
(a) 4 (b) 5
(c) 2 (d) 1

Q.103

Identify the type of inflorescence in the
given diagram (A and B)

() W YPR & g I MY ¥ THT BIar 8

() IREH a7 3 PIR@ET g7 BT
#idY fada fifa gaa was wich<rss

@1 Bt 2

(iii) effHror &= 98 HIRHRN &1 fAwfor
Pl 2 |

(iv)aRuaa &= urit T Wfaw &1 Jaensor
AT B |

(v) TGl HIFA GF AT miEd |@REEr
HeRIA HEAT 2 |

(a) 4 (b) 5

(c) 2 d) 1

Q.103 fad ¢ fad ¥ YwHhd & USRI Bl
Jgal: (A U4 B)

(A)
(a) A - Racemose;
(b) A - Cymose;
(c) A - Cymose;
(d) A - Racemose;

(B)
B - Cymose
B - Racemose
B - Cymose
B - Racemose

Q.104 Viability period for pollen grains after
shedding in cereals like rice and wheat is
usually —

(a) upto 30 minutes
(b) 30 minutes to 1 hour
(c) 1 to 2 hours

(d) 6 to 12 hours

(A) (B)
(a) A - IITHIET; B - |HMHREN
(b) A - HHIHE; B - ardmHREl
(c) A - FHIHEN; B - |4HREN
(d) A - IITHE; B - ardMmRl

Q.104 3IATHI ¥ Add aAT T H WRATHUI D
e @& 919 oflaq &HdaT 9rE=aa: gidl @

(a) 30 e &

(b) 30 e ¥ 1 99%¢ d®
(c) 1 &2 9] dd

(d) 6 & 12 gvel d®
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Q.105 In Dorsiventral leaf tissue situated on || Q.105 YOT&RI Ui # 3=y |as WX U™ M

Q.106

Q.107

Q.108

adaxial surface is

(a) Spongy parenchyma and elongated
(b) Spongy parenchyma and spherical
(c) Palisade parenchyma and spherical
(d) Palisade parenchyma and elongated
Match the Column A and Column B

A. Marginal placentation i. Marigold

B. Axile placentation ii. Dianthus

C. Parietal placentation iii. Argemone

D. Free central placentation iv. Chinarose

E. Basal placentation v. Pea

(a) A-v, B-iv, C-iii, D-ii, e-i
(b) A-v, B-iii, C-iv, D-i, e-ii
(c) A-iv, B-iii, C-v, D-ii, e-i
(d) A-i, B-v, C-iv, D-iii, e-ii
Assertion: The trichomes are unicellular

elongations of the epidermal cells.

Reason: Trichome helps in absorption of water
and minerals from the soil

(a) Assertion and reason both are true and the
reason is correct explanation of assertion.

(b) Assertion and reason both are true but reason
is not correct explanation of assertion.
(c) Assertion is true but reason is wrong.
(d) Assertion and reason both are wrong.
Match the column-I and column-II and select
the correct combination.
A B
A. Vessels p- Monocot stem
B. Sclerenchymatous ¢.Stomata
hypodermis
C. Bulliform cells
D. Guard cells

I. Dicot leaf

s. Xylem

t. Monocot leaf
(a))A-s,B-p,C-t,D-q
(b)A-s,B-p,C-q,D-t
(c)A-p,B-q,C-r,D-5
(d)A-s,B-r,C-q,D-p

Q.106

Q.107

Q.108

qrd Had s8Id ©

(a) ol Jgaadh T2 <reid

(b) TSI HgAH AT TelBR

(c) @9 Hg<idh AT ITTHR

(d) @9 Hgxidh AT e

W ATAT & B &1 Ha= Sy -

A. dFra flomvs=ma i ARTTs

B. Iy dionmvsE il SIsUeeN

C. g flomves=mr i, st

D. qaddadId iv. S
domves=m

E. IR dIGvsaE v, HeR

(a) A-v, B-iv, C-iii, D-ii, e-i

(b) A-v, B-iii, C-iv, D-i, e-ii

(c) A-iv, B-iii, C-v, D-ii, e-i

(d) A-i, B-v, C-iv, D-iii, e-ii

BT CISHM (CTARM) UUSHA DIRHRIT &

THBIRHE R a1 gaikd wrT 8|

BIRT: STShM FaT U el AR WISl & faeiyor

H AGE HRAT & |

(a) HUA 3R HRYT AFI G 8 AR BRI HAT
B HEl WEIHRT B |

(b) HUF IR BHRY GHI I & cllh BRI
HAT BT Wal IR 8] & |

(c) BT FF & clfdhT HIRYT Teld B |

(d) HU 3R HROT GHET Teld B |

PIH—A IR BIH-—B I Faferd ad

gU WEl YW $1 gA1E DY —

A B
a. p- UdhdIGa=Al a1
b. qa‘lﬂa?mm'aaamqvﬂ
c. gABiH IR . fgdoa= o<
d. ¥&® BIf@T s. OIso¥
t. UhdlauAl ol

(a) A-s, B-p, C-t, D- q
(b)A-s,B-p,C-q,D-t
(c)A-p,B-q,C-1,D-5s
(d)A-s,B-1,C-q,D-p
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Q.109 The functions of stomata are : Q.109 gl BT P B :

(a) gaseous exchange (a) AT fafra

(b) loss of water vapour (b) STeT ATy Bt BT

(c) loss of water in liquid form

(d) gaseous exchange and loss of water vapour

() STel B TRl ®T # B
(d) i fafma 9 Sa a9 @ B

Q.110 In dicot stem hypodermis is made up of || Q.110 fEdfioa=ii @ @1 =wguisha L)
cells while general cortex is made g1 BIdl & 9 9H dedC £
up of ot gt @ :
(a) Collenchyma, Sclerenchyma (2) DICTTPTSHI, TFeRTDIZH
(b) Collenchyma, Parenchyma (b) BICTHIZHT, URAHISHI
(c) Parenchyma, Sclerenchyma () URThTSHI, TFIRADIZHI
(d) Parenchyma, Collenchyma (d) IRABIZHA, BleHISH]
Q.111 Which of the following is referred to as the || Q.111 f=faiRad # 4 Fadl Trd AW
starch sheath : AW | T WEr @
(a) Hypodermis (b) Pericycle (a) BIUSHH (b) YRETS(dHeT
(c) Endodermis (d) Vascular tissue (c) TuSIsiH (d) Ha8d Hdd
Q.112 Perianth is the condition in which : Q.112 qﬁaag;ﬁ[ g Refa 2 forad
(a) Calyx and corolla are free. (a) TTIEAYS  ToTgel Had BT B |
(b) Calyx is present but corolla is absent. (b) aTgIGeysl SURT @ Tel R |
(c) Corolla and androceium fused. (c) ool AT \gad B 2|
(d) Calyx and corolla are indistinct. (d) SrErEegs 9 Torge faufed i 8 ¥
Q.113 Leaves originate from and arranged Q.113 TR WxiE & q freadt 1 2
in gfrar @ ®U ¥ aft Ed T
(a) Shoot apical meristem, Acropetal order (a) ¥R HRECH, PR wU
(b) Lateral meristem, Basipetal order (b) UTed HR¥CH, TNHERI =Y
(c) Secondary meristem, Acropetal order (c) fEdie AREH, UMMERT =Y
(d) Primary meristem, Basipetal order (d) MAAEH AR¥CH, dfERI =Y
Q.114 Consider the following statements : Q.114 1 HFT R faaR :fIT :
() In racemose inflorescence the flowers () m %ﬂnﬂq A gw JUTErd u A
are born in a acropetal order i Fk ¥
(ii) Epigynous flower possess inferior ovary. = B © L e gl L
(iii) In potato the ovary is semi-superior. (iii) 31Te], A VSN 3g—Gedad] sidl &
Of these statements : T oaW 7 9 -
(a) (ii) and (iii) are false and (i) is true (a) (ii) T (iii) TTeTd & T (i) el &
(b) (i) and (i) are true and (ii) is false (b) (1) T (iiil) \&T & TAT (ii) 7TeTd &
(c) (i) and (ii) are true and (iii) is false (c) (i) @ (ii) \ET & TT (iii) 7TeTd &
(d) (i) and (iii) are false and (i) is true (d) (1) @ (iii) TTeTdT & TAT (ii) el &
28] Test Series & &, NCERT &1 frais #!
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Q.115 Select the incorrect statement — Q.115 I B ) %__[,ﬁ'lq —

(a) Sporopollenin in exine is one of the most

resistant materials.
(b) Typical angiospermic anther is tetrasporangiate

(c) Usually one microspore mother cell gives

rise to one functional microspore

(d) Tapetal cells are multinucleate

(a) dTEgdicl H SURYT WRIURIT 3ffdiH
UfeRTeN uaraf 4 9§ ud B

(b) ITHIUSH ATGALISHT URTTHIT =T chd]
SIUETS BIAT B |

(c) MU Udh olgdIov] A1g hIfPThT Uh
fharcHes STHEISY] Sed—~ &Rl B |

(d) <dieH SIf¥Tdd agdh=al Bl @ |

Q.116 Assertion: Leaf develops at the node and bears || Q.116 ®: gl Are (718) wR f[d&fdd 8kl & SR
a bud in its axil SHD! HE H Dol Bl &
Reason: Leaves of dicotyledonous plants DO fEISTg= UEl & uferal | o dR O)
generally possess parallel venation. TR BRI 8 &
(a) Assertion and reason both are true and the (a) HAA 2R BN ST 9 & 3N BN U
reason is correct explanation of assertion. BT TS LRI 2 |
(b) Assertion and reason both are true but reason (b) HUF AR BRU T GG & clfdhd BRI
is not correct explanation of assertion. YT BT FE TWLETHIOT T8 B |
(c) Assertion is true but reason is wrong. (c) BT T & <ifdhT HIRT TeTd B |
(d) Assertion and reason both are wrong. (d) U AR HROT T ITeld 8 |
Q.117 Match the column. Q.117 FIAH-1dl Dlaui-N ¥ fFfam@ Fife—
(i) Axillary bud  (A) Small leaf like () e defldr  (A) QT ma—q‘_ BT ghial
structure LALEL
(ii) Stipules (B) Develop into branch (i) srgaref B) wren # fasRa
(iii) Pulvinus (C) Swollen leaf base (i) e © %;r‘fm KN
(iv) Veins (D) Provide rigidity to (iv) RRT D) =< & Bad DI
leaf blade ggdl YA &l ©
(a) i-(A), 1i-(C), iii-(B), iv-(D) (a) i-(A), ii-(C), iii~(B), iv-(D)
(b) i-(B), ii-(A), iii-(C), iv-(D) (b) i«(B), ii-(A), iii-(C), iv-(D)
(c) i-(C), ii-(A), iii-(B), iv-(D) (c) i-(C), ii-(A), iii-(B), iv-(D)
(d) i-(B), ii-(A), iii-(D), iv-(C) (d) i-(B), ii-(A), iii-(D), iv-(C)
Q.118 A : There are several ways of development || Q.118 A : 3G &I ® UReda & 3®
of apomictic seeds. ad Bd 2
B : Orchid fruit contain single seed. B: Jifes bad U doa qFd gid &1
Choose right option : g ey &1 999 PIU -
(a) A is right B is wrong () AHE! & B old B |
(b) A is wrong B is right (b) ATTeT ¥ B WEl ¥
(c) Both A & B are right () AT B 3T @& ¥
(d) Both A & B are wrong (d) AT B T o ¥
291 Test Series 7@, NCERT @ frag 1
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Q.119 The edible fleshy part of mango is Q.119 3MH &T W1 A Hidel 91T & —
(a) Epicarp (b) Mesocarp (a) i (b) HrStreTd
(c) Endocarp (d) Pericarp (GRESEIL (d) uReTd
Q.120 The ovule after fertilization develop || Q.120 a9 & yvarq fivvs ¥ yRafda
into RN E
(a) Fruit (b) Endosperm (a) ®eT (b) ¥orary
(c) Pericarp (d) Seed (c) erfafy (d) drs1

Q.121 Which statement is wrong for given figure : || Q.121 fed v fom @ g @ ®oA @
(a) D is a triploid (3n) structure of seed (2) DS @l T er) o
(b) B® ERI Udh & diel U= hl afid fhar
(b) B represent one large cotyledon called T & O ¥hce™ dEd © |
scutelum (c) C& BRI €IS &I Uighralel (3n) Uafdid
(c) C represent coleoptile (3n) of seed BT 7 |
(d) AD ERT 4161 & HIfed Ao Bl gald
(d) A represent reserve food of seed fpar @ &
Q.122 How many statements are correct : Q.122 fHad a9 U @ -
(A) Apocarpous ovary occurs in lotus and (A) HHA g RIC] I ﬁwmrﬂ SIUVETITT 9T
rose olldl & |
(B) Tomato is a result of syncarpous ovary (B) STeX wgaisd Jvsrera &1 gRvm 2 |
(C) After fertilization ovule convert into fruit ©) ﬁﬁiﬂg Iﬂ} _arq dIovs wet 7 uRafda
(D) Carpel consists of three parts (D) Frid (srven) A9 W0 BT 997 B 2 |
(a) Three (b) Four (a) A4 (b) IR
(c) Two (d) One ¥o) a1 (d) U
Q.123 Given floral diagram is related to Q.123 fear war Huﬂq 3TN Urey 9 9HRd
plant and correctly pair this plant with correct ? TAT U UTGY HT WL AT aTT Ha) I
character : y
o
o]
Y Sty N
,/Zn% 3\
X%
W
(a) Pea — Diadelphous stamens (a) AR — TRl gahar
(b) Solanum — Epipetalous stamens (b) FeI7H — GeTelR UhaR
(c) Tulip — Axile placentations (c) ST — R drovs—ard
(d) Mustard — Tetradynamous stamens (d) ERET — =TT gbhax
30|
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Q.124 The viability of pollen grain is mainly depend || Q.124 &l WRITHYT &1 Sfia&Hdar Y@ w4 4
on — g aR® W= R Bl 8-
(a) Temperature (b) Humidity (a) AT9HTA (b) 3rrear
(c) Both (a) & (b) (d) Light (c) THT (a) & (b) (d) uprer

Q.125

Q.126

Q.127

Q.128

Albuminous/endospermeic seeds are :
(a) Coconut, castor

(b) Bean, pea

(c) Groundnut, pea

(d) Gram, Mung

Match the column I with column II :
Column - I Column - IT

A. Ovary I. Groundnut, mustard

B. Ovule II. Guava, Orange, Mango

C. Wall of ovary III. Pericarp

D. Fleshy fruit IV. Seed

E. Dry fruits V. Fruit

(a) A-V, B-IV, C-III, D-II, E-I

(b) A-I, B-1I, C-III, D-IV, E-V

(c) A-I, B-III, C-1I, D-IV, E-V

(d) A-V, B-1V, C-I, D-II, E- III

Assertion: In Cassia and gulmohur, the

aestivation is called imbricate.

Reason: One margin of the appendage overlaps

that of the next one and so on itis called imbricate

(a) Assertion and reason both are true and the
reason is correct explanation of assertion.

(b) Assertion and reason both are true but reason
is not correct explanation of assertion.

(c) Assertion is true but reason is wrong.
(d) Assertion and reason both are wrong.

How many statements are wrong in reference

of stem

(i These arises from Radicle of germinated seed

(ii) The region of the stem where leaves are
born called internode

(iii) Stem is woody and dark brown when
young

(iv) Absorb water and minerals

(v) It provide support and protection

Q.125

Q.126

Q.127

Q.128

goglau/sguuie v 2

(a) ATRIC, ARVET

(b) ¥ , Hex

(c) FThell, Hex

(d) =, 7T

FiaH I Hl Siaq 19 gAfaa i -

Column - I Column - I1

A. VST L { e, [T

B. diuivs IL. 39w, gaxl, AT
C. 3Ivsrer i IIL. BArRT

D. HT9d B Iv. 419

E. I %d V. Bl

(a) A-V, B-1V, C-III, D-II, E-I

(b) A-IL, B-II, C-III, D-IV, E-V

(¢) A-I, BIIL, C-II, D-IV, E-V

(d) A-V, B-1V, C-I, D-II, E- III

HA: DA 3R TelHER H, T daTE Bl

DRG] DBl STl B |

HROT: QG fH¥l acl aar agdael ol fhIRT

ITel T R GER IR 3Mfe UR Afcrarsd 8l df

IY9 HRVTG HEd o |

(a) BAT AR BRYT G G & R HROT HAT
P Bl WCIHIT 3 |

(b) HUF IR BRY GHI I B cllh BRI
HUF P Hal WCIHVT 8] & |

(c) BAT T & clfchd BRI IeTd @ |

(d) HH 3R HROT IFT Tl © |

T @ ded ¥ 9 ¥ 9 fHa dUH Taa

i

(i) I® IAgRa §9 & Jaiex 4 Fadad =

(i) T $T 98 &3 WEl 9 uRaar Fead) €,
yd HEdEr @

(iii) ¥e19 Ia¥RAT A TAT PSS T TERT H{IT
Bl T ?@

(iv) U 9 @IS BT J@NHOT Har &

(v) 9BRT @ gR&T &< &1 &R HRdl &

(a) 4 (b)3 (a) 4 (b)3
(c)2 (d)5 (c) 2 (d)5
Q.129 Stored pollen as pollen banks requires a || Q.129 WRIT d&I ¥ WRFTHUN B WA HA &
temperature of: ferg arravas® amgwe ghar 8:
(a) — 100°C (b) - 196°C (a) — 100°C (b) — 196°C
(c) — 71°C (d) - 27°C (c) — 71°C (d) — 27°C
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Q.130 In which phyllotaxy single leaf arises at each node.

Q.131

Q.132

Q.133

(a) Alternate manner in guvava.
(b) Alternate manner in mustard.
(c) Alternate manner in Alstonia.

(d) Opposite type in Calotropis.
Fruit formation is a characteristic feature of
and produced
(a) Angiosperms, after fertilization
(b) Angiosperms and some gymnosperms, after
fertilization
(c) Gymnosperms, after fertilization

(d) Angiosperms and Pteridophytes, after
fertilization

Mango and coconut fruit are known as :
(a) Nut (b) Drupe
(c) Caryopsis (d) Legume

Zygomorphic condition can be represented
as :

(b) %
(d) Q(b)

Q.134 How many statements are right for given

figure-

(i) In the grass family, cotyledon called
scutellum

(ii) Sheath of radicle called coleoptile

(iii)Sheath of radicle called coleorrhiza

(iv)Epiblast is present in that embryo

(v) Mature embryo is heart shaped

Q.130

Q.131

Q.132

Q.133

Q.134

i1 3§ 9 &9 9 yvifdarg § ua dell Uil
UAS Mad W TS ®U A ol &l 2]

(a) 3w H UPHIAR TSR

(b) BRET H UHITR THR

(c) ToHCIRIT H TSR UHR

(d) DAISITE H T GHR

wd fafor &1 @eEfre Tor @ qen
_ Swifea i E

(a) SMgedTSHT, Y= Tearg

(b) SIS T {& SFAIETOH, AT Tearg
(c) IrTTgaTSH, fve Tearg

(d) aTgdErsil g SReMbgeH, Fv=+ gedrd

I 9 AT Bl HEATd © -

(a) I DELE]

(c) HRAEH (d) orvgH
ThaTgaaa Refa ysfRia & gadl @ -
(a) ® (b) %

(c) 5 (d) Gy,

A Ry 717 foaz @ far & aar a9
e a—

() a9 @ @A A NI THTAH dEATd!
®

(i) FAIBR BT ARV GiHRalel HEarr ¢ |

(iii)) FSATHX BT IATAROT HATHATA BT 2 |

(V)T ¥ Ifreike SuRera grar 2

(v) WRUFT U1 FEATHR BT B |

(a) 3 (b) 4 (a) 3 ®)4
(c) 2 (d) 1 (c) 2 (d)1
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Q.135 Statement-I: The outer walls of guard cell are || Q.135 A I: R&TH PIPTHI DI I8N <IdR Udell Bl

Q.136

Q.137

Q.138

Q.139

Q.140

Q.141

thin and inner wall are highly thickened.
Statement-II: Guard cells lack chloroplast
(a) Both statements are correct

(b) Statement I is correct & II is incorrect
(c) Statement I is incorrect & II is correct
(d) Both statements are incorrect

Which of the following flower doesn't have
any symmetry :

(a) Pea (b) Gulmohur

(c) Cassia (d) Canna

Meristematic cells are

(a) Static (b) Permanent

(c) Dividing (d) Dead cells

The first formed primary xylem element are
and later formed is

(a) Protoxylem, Metaxylem
(b) Metaxylem, Protoxylem
(c) Tracheids, Vessels

(d) Both (b) and (c)

Consider the following statements &

choose correct answer

A. In Vallisneria, the female flower reach
the surface of water by long stalk &
the male flowers or pollen grains are
released on surface of water

B. Pollination in most of water pollinated
species occurs through air & insects

(a) Both A & B Correct

(b) Statement A correct, B incorrect

(c) Statement A correctly explains B

(d) A & B Both are incorrect

Which of the following plant does not

produce two types of flowers —

(a) Commelina (b) Oxalis

(c) Viola (d) Pea

Seeds of Lupine (Lupinus arcticus) may have

viability period up to —

(b) 100 years

(d) 10,000 years

(a) Few years
(c) 2000 years

Q.136

Q.137

Q.138

Q.139

Q.140

Q.141

2 IR MR <19 ercafdid AT Bl B

HA I1: &TH DIRHRI H TERICIRS Dl HHI
BIdl B |

(a) TFI HAT HAI B

(b) 2 I W8l 8 3R I 7Teld &

(c) U I 7Terd & 3R I Hal 8

(d) T BT TeTd B

1 4 9 59 g 4 & garR &)
wafafa 7 g @ -

(a) AleX (b) TTeTHIER

(c) DT (d) DT
farsaaa! sIREIY € -

(a) RerR (b) Tl

(c) fawrorTefiar (d) g PIfETHIY

tsa Affa urafie wgeaw aa
9% 9 fAffa wsew @

(a) UICIGIIgelH, HCTOITgeH

(b) HESITSeH, UICSTSeH

(c) aIfgeTy, drfafyehTy

(d) ST (b) TAT (c)

= duel WR faarR iy qom 98 SR

e =

A. dfeeARar § #eT g oW 99 gRT
el @1 ¥de d® dgddl @ a2l TR s
JqAT RATHYUT W Bl Hde R fagaa
fed @ 21

B. 3IfSrdpar o gxifira gortforl § oRmror
qrg dAT Bl gRT Bial @ |

(a) AT B SHI 98! 7|

(b) UTA HEl &, B Teld & |

(c) HAT A DI B Wel AT HRl 8 |

(d) ATT B Tl Toid B

frafafRaa & 4 991 UGy 2 YBR B

qs IcU~ el Al © —
(a) BIHCITST (b) ffesifera
(c) ardreT (d) AeX

wIfT (egfirer smReww) @ Ao ¥ sz
gaar arfl &1 gad) @

(a) {B TUl dh (b) 100 T8I dH

(c) 2000 IuT qH (d) 10,000 9uT TH
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Q.142 Which are related with dorsiventral leaf- Q.142 =1 A ¥ I99 yYsoremdl uvf 4§

i. Palisade tissue

ii. Well differentiated cortex
Spongy parenchyma

. Epidermis

v. Vascular tissues

gfeaa 28—

i. O™ Hdsd

ii. quf fadfed dese
iii. wWofl g

iv. 3fSrast

v. a8 Had

vi. Bundle sheath cells present around R 'F'ﬁ 3 TRl 3R waEd qa
vascular bundles N e Rerfe
vii. Endodermis vii. ara-oad
Q)6 ()5 (a) 6 () 3
(c)7 (d) 4 (c) 7 (d) 4
Q.143 Sheathing leaf base is: Q.143 3T YUIiEgR 2 ?
(a) arrangement of vein in leaf blade (a) UvTHeld | RRRIT & gl &
(b) provides rigidity to the leaf blade (b) UvTthelds &l geal UaT &l &
(c) actas channels to transport for water, minerals (c) STel, WiHSIT T Wrey vl & qRde- &g del
and food materials BT BRI Bl &
(d) In maize plant the leaf base is expanded (d) ¥FBT H YUIER &1 hell X8I
Q.144 In a raceme (racemose) inflorescence, the || Q.144 31181 Ysush4 q, ysy gid & -
flowers are- _
. | . (a) TR A H aierd
(a) Arranged in a basipetal succession
(b) Arranged in an acropetal succession (W B 4
(c) Of separate sexes (c) far= fermmt &
(d) Of same sex (d) T® &l forT o
Q.145 From the given examples how many have || Q.145 f&d 3 Sgrexrvl # & feaat & o
actinomorphic floral symmetry : SEIRE 23 ety arg el @ —
Mustard, Datura, Chilli, Gulmohur, Bean, DT frd, g 3 . i
TSEA, DAL, A
Cassia, China rose, Canna, Brinjal
e faweu 2 —
Correct option is :
(a) 4 (b) 5 (a) 4 (b) 5
(c)6 (d)7 (c)6 (d)7
Q.146 If a sporophytic monoecious plant has 2n || Q.146 afs o Eﬁ?ﬂuﬁﬁﬂ Uahfeimsfl uey
=10 (number of chromosomes) than find out 2n =10 (F[UIYF w&AT) © A §aisd
A - number of chromosomes in endosperm A- "ELUNTGI H ﬂ“]?fsﬁ' B &l
B - number of chromosomes in egg cell. B - 3vs HIRTHT H TTIT[\TJﬁ' B &l
C - number of chromosomes in polar nuclei. s ?J‘[,ﬂ’I?I dTd H ‘l"ﬁf:ﬁ' P Gl
(a) 15, 15,20 (b) 10, 15,20 (a) 15, 15,20 (b) 10, 15, 20
(c) 15,5, 5 (d) 10, 5,15 (c) 15,5,5 (d) 10,5, 15
34] Test Series 7@, NCERT @ frag 1
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Q.147 Match column I with IT and III

Q.147 BicH—I AT BicH—I1 3R I &1 A= Hifoe

Column-I Column-II Column-III
(1) Actinomorphic (a) Flower divided into (A) Mustard,
two parts from any datura,
plane chilli
(11) | Zygomorphic (b) Flower divided into | (B) Gulmohur,
two parts from one bean, cassia
particular plane
(111) | Asymmetric (¢) Cannot divided into | (C) Canna
two parts
(1v) | Trimerous (d) Flower’s appendages | (D) Lily
multiple of 3
(a) i'(an A)n 11'(b1 B)& iii-(C, C)n iV-(d, D)
(b) i'(bn A)& ii'(an B)& i‘i‘i‘-(cﬂ C)n i‘v-(d? D)
(C) i-(C, A)n 11'(b1 B)& iii'(aa C)n iV-(d, D)
(d) i'(dn A)& 11'(b1 B)& iii-(C, C)n iv-(a_, D)
Q.148 Consider the following diagrams and choose

the correct statements :

(A) In diagram (a) an egg apparatus showing
entry of pollen tube into a synergid
(B) Diagram (b) shows discharge of male

gametes into a synergid

(C) Diagram (a) shows the movements of the
sperms, into the egg and the central cell.
(D) Diagram (a) and (b) both are the

mechanism of post-fertilization event.

(a) (A) and (B)
(c) (A) and (D)

(b) (B) and (C)
(d) (B) and (D)

Q.149 Vascular tissue system consist of :

(a) Xylem and Phloem

(b) Phloem and Cambium

(c) Xylem, Phloem & Cambium
(d) Only Cambium

wier-1 e -1 wier -1

() | Prereatatr (a) GO T fendl 9 ool | (A) FYH], G |
H T SN A H o
fersperey fepam
HPHel ©

(1) | UPATAREEAERT | (b) I BT Hd Uh (B) TeTHIER,
ferdry et | w1 e, DT
IET AT H e
feraT @ "aT T

(1) | STEHTETRT (c) ©T HAH AMT H (C) @
fesrey =TET femam =
el

() | P (d) guit ST &9 @ (D) forfer
O TR T

(a) i<(a, A), ii-(b, B), iii-(c, C), iv-(d, D)
(b) i~(b, A), ii-(a, B), iii-(c, C), iv-(d, D)
(c) i<(c, A), ii-(b, B), iii-(a, C), iv-(d, D)
(d) i~(d, A), ii-(b, B), iii-(c, C), iv-(a, D)

Q.148 =1 Al R faarR dIfST T 98! HUT

&1 99 DIfSIg

(b)

(A) ForA (a) 3 U 31vS W[ GER—ID BIRIDBI
¥ WRATFAST ® a9 bl <90 WET & |

(B) = (b) GerI@ SIR@HT A R oS D
TG Bl qeridr 2 |

(C) fort (a) YH1VY BT 31U HIRAST TAT DA
HIRHT § 7 q9wiar 2|

D) fa= (a) 9T (b) T e feEE ge
@) Bharffey &)

(a) (A) 7T (B)

(c) (A) and (D)

(b) (B) T (C)
(d) (B) and (D)

Q.149 Hadgd Had dd & Jdid I B |

(a) Xylem and Phloem

(b) Phloem and Cambium

(c) Xylem, Phloem & Cambium
(d) Only Cambium
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Q.150 In given statement Q.150 fau 10 HAUq ¥ —

Q.153

(I) Each ovary bear only one ovule.
(IT) Flattened cushion like structure is

called placenta
(a) Statement -I is correct, Statement-II incorrect
(b) Statement-I is incorrect, Statement-II correct
(c) Both are incorrect
(d) Both are correct
How many pollen mother cells are required
to form 80 male gametes
(a) 10 (b) 20
(c) 30 (d) 40

Assertion: Some fruits are seedless or

contain non-viable seeds.

Reason: They are produced without

fertilisation.

(a) Assertion and reason both are true and the
reason is correct explanation of assertion.

(b) Assertion and reason both are true but reason
is not correct explanation of assertion.

(c) Assertion is true but reason is wrong.
(d) Assertion and reason both are wrong.

Consider the given statements —

A. Function of guiding and attracting
pollen tube is done by egg cell.

B. Triple fusion produces zygote.

C. Triple fusion produces primary
endosperm nucleus.

D. Wind pollinated flowers are small,
scented and coloured

How many statements are incorrect :

(a) 2 (b) 4
(c) 1 (d) 3
Which set represents true fruit?

(a) Mango, Guava, Apple

(b) Mango, Coconut, Mulbery
(c) Strawberry, Pineapple, Apple
(d) Mango, Tomato, Legume pod

Q.151

Q.152

Q.153

@ YAD AVSI F TP dIolve giar ¢ |
() U, TMGRGR WA fAieRF dEand &1
(a) B Fal &, HATII Teld B

(b) A1 Teld &, HAT-II Hal B

(c) THT el d &

(d) T |8 B

80 R DI Bl I & farg fha-i wREr
A HIRGRT B ATaTIHaT 2 |

(a) 10 (b) 20
(c) 30 (d) 40

HUT: {B el 4o (BT TT 3HeH dIoT Fard

BId B

SR I @97 FdeE & Saifed B8 B |

(a) HU AR HRT A G & 3R HROT HAA
BT HEl WEIHRT B |

(b) I AR HRU GFET T & olfhT HRO
HUT BT Wal IR T8 & |

(c) BA T & clfchd HROI Teld 3 |

(d) B AR BRI ST Teld B |

fed v dt W faar s —

A. REAFITAST $1 anwfda o fazm I
BT B 3vs HIHT Bl 2 |

B. B@AT 9 A9 I siaT 2|

C. Bawa yafie 4oy e I~
BT 2 |

D. 9 WRIRTG gs 8IS, TeErRgad daeIr

JMYgEd Bd 8 |
foas @9 I\ € -
(a) 2 (b) 4
(c) 1 (d)3

DI AT Goad 9d B DI ygRid Hxar

287?

(a) 3, THICR, U9

(b) AT, TR, WS
(c) TR, UrsAvwd, ¥q

(d) M, THIER, <A Well
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Q.155 Given below is the diagram of a stomatal
apparatus. In which of the following all the
four parts labelled as A, B, C and D are
correctly identified?

oNom >

) (B) (©) D)
(a) Subsidiary | Epidermal Guard Stomatal
Cell Cell Cell aperture
(b) Guard cell Stomatal | Subsidiary | Epidermal
aperture cell cell
(c) Epidermal Guard Stomatal | Subsidiary
cell cell aperture cell
(d) Epidermal | Subsidiary | Stomatal Guard
cell cell aperture cell

Q.156 From the given how many events are

Q.157

include under post fertilization events -
(A) Maturation of ovule(s) into seed(s)
(B) Double fertilization

(C) Maturation of ovary into fruit

(D) Endosperm development

(E) Entry of pollen tube into embryo sac
(F) Embryo development

Correct options are -

(a) 4 (b) 6
(c)5 (d)3
Assertion: In mustard, china rose and brinjal

superior ovary is present.

Reason: In the hypogynous flower the
gynoecium occupy the highest position while the
other parts are situated below it.

(a) Assertion and reason both are true and the
reason is correct explanation of assertion.

(b) Assertion and reason both are true but reason
is not correct explanation of assertion.

(c) Assertion is true but reason is wrong.

(d) Assertion and reason both are wrong.

Q.155 g fad w1 @ IR ® <& d=r qertar @

2| fr=iferRaa o faseul 14)d | fow
s § g IRl 3ifed 9FT A,B,C AT D
e 91V Y ®

A
(e
C
s
(A) 3B) ©) (D)
(a) Hadd | drercaar AR 3y fog
BIfSThT BIfSTHT | BIfSTHT
(b) R X fosg eS| drecdard
BIfSThT BIfFTHT | BIfMdT
(c) | ST aR Iy foog GEPED
BIfSThT BIf3ThT BIf3TPT
(d) | grgad™ | "Ee | Y fog aR
BIfSThT BIf3THT BIf3TPT

Q.156 &1 ug ycHR 4 4 [bad yg [FYd+

Q.157

T ¥ gftafaa €

@A) Ao (fiovst) &1 fio (fion) 7
gRuaast

(B) gI&wT fege

(C) VST &1 Bl A URYFa

(D) Yoy &1 fasma

(E) JUTHIe § WRATA $T gae

(F) 91 &1 faoreg
weal favey & —
(a) 4 (b) 6
(c)5 (d)3

AT GREI, Yevel AR 9 H FUIRIR A
(Sedardl) divje Bidl B |

SRV ALNTIRTTT § SR gaisd e o)

Rera BIT & iR 39T T A B B |

(a) BA AR BRYT G G & AR HROT HAT
P Bl LIBT3 |

(b) HUF IR BRYI GHEI T & clih BRI
HUT BT Fal IR 8] & |

(c) BAT T & clfchd BRI IeTd @ |

(d) HU 3R HROT GHET Teld B |
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Q.158 Which one of the following statement is || Q.158 f=ifeiRaa & | ®ivwT v ¥ Ha+ © -

Q.160

correct :
(a) The seed in grasses is non-endospermic.
(b) Mango is a parthenocarpic fruit.

(c) A proteinaceous aleurone layer is present in
maize grain.

(d) A sterile pistil is called staminode.

Floral formula for malvaceae family-

- . T
(a) Brad gE1313_?K{5}C5 Bl

) Er® @ Kp2CaAz,4Goy
A TN

(C) Bl'(‘l‘) 9 P{3+3} A3+3 Ql{g,)

(d) BIO/f’QﬂPQA3 e b, i iy

Ground tissues includes :

(a) All tissues except epidermis and vascular
bundles.

(b) Epidermis and cortex.
(c) All internal tissues from endodermis.

(d) All external tissues from endodermis

Q.159

Q.160

(a) T & dIo1 YUYl BId B |
(b) MM TH NS Hel 7 |

(c) AigdT & dNif # UIEH @ URd ToygRA
Sufferd Bl B 1

(d) 92 EHoux THAgS Heand & |

Araddl Hd @ fav g gI3—

- - r et
(a) Br&® 9” Epi, K, G AuG, .,

(b) Eor D Q)I<2+2C£LKA2+4§[2)
A TN

(C) Bl'(‘l‘) 9 P{3+3} A3+3 Ql{g,)

(d) BIO/f’QﬂPQA3 or 6 G1 or G,

U] Had ¥ afafea € -

(a) 9T <TAT 9 IS Hodd bl BISHI G4l
D |

(b) 9r& @ET 9 dode |
(c) Jdveadl & 3<x JURAT HHl HdD |
(d) 3fcecTar & 918} SURed |l Hdd |

Q.161 Assertion: Pollen grains are well reserved as |[ Q.161 ®YF: URFT BT SAT9H & WU § <6 OR8 I
fossils TR T T W 8|
Reason: Sporopollenin present in exine of L o ! P
seeds BRUE: GGl & qrggdiel H WRIURINE aran
ST B |
a) Assertion and reason both are true and the _
) _ _ _ (a) B 3R BRI S T 8 3R BROT H2A
reason is correct explanation of assertion. b1 9 3
(b) Assertion and reason both are true but reason (b) HU AR HRYT I T & AbA PRI
is not correct explanation of assertion. HAT BT To WEIHIT 87 & |
(c) Assertion is true but reason is wrong. (c) B FF & clfh HROT eld & |
(d) Assertion and reason both are wrong. (d) U AR HROT ST Teld 8 |
Q.162 In seed bearing plants, the male gametes || Q.162 3ngadis dlef # R gws  gNI
are carried by  while the female gl fed o 2 wefed  we JHD
gametes are carried by NI &RV fHd o 2
(a) Ovum, ovary (b) Anther, style (a) 2TUEI, IATSEY (b) W CINED
(c) Ovule, pollen grain (d) Pollen grain, ovule (c) dIGTIUS, WFTHYT  (d) WETHYI, dIoAve
Q.163 Select the odd one out w.r.t. wall layers of || Q.163 Ysii urqul # argdiaToETi H1 ffea u=ar
microsporangium in flowering plants ® Wed H s fauH fawey &1 aa9 sifvg
(a) Endothecium (b) Middle layers (a) TR (b) #=7 URd
(c) Tapetum (d)Hilum (c) cUreH (d) B13eH
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Q.164 The following structures are present in || Q.164 /<1 G- flwif ¥ SufRera zidl 21

Q.165

Q.166

Q.167

Q.168

seeds. Choose the correct option.

A. Aleurone layer B. Coleoptile

C. Radicle D. Two cotyledons
E. Scutellum F. Endosperm

G Plumule H. Epiblast

Gram seed Maize seed
(a)A,B, C B,D,E

M C,D,G A, B, CEFGH
(c)A, C, D, G A, CEF

(d)B,C, D, G A,B,D,E,G

In (i), protoxylem lies towards periphery and
metaxylem lies towards centre. Such an
arrangement of primary xylem is called as

(i) :
® (i)
(a) stems endarch
(b) stems exarch
(c) roots endarch
(d) roots exarch
A and B _permit the exchange of

gases between outer atmosphere and the
internal tissue. Here 'B' do not occur on leaf.
Identify the A and B :

(a) A - Stomata, B - Epidermis
(b) A - Stomata, B - Lenticel
(c) A - Lenticel, B - Stomata
(c) A - Epidermis, B - Stomata

In dicot leaves the epidermis

generally bears more stomata then the
epidermis :

(a) abaxial, adaxial (b) adaxial, abaxial

(c) axial, coaxial (d) coaxial, axial

Select the odd one out w.r.t. the pollen grains

(a) Pollen grains are rich in nutrient

(b) Its consumption increases the performance

of athletes and race horses.
(c) It can be stored for years in liquid nitrogen
(d) Pollen grains possess non-sticky covering

called pollen kitt

Q.165

Q.166

Q.167

Q.168

g8 fadeu &1 aga s |

A. TERIF WA B. WiGR ald
C. HATH D. @ di5uar
E. ¥pedd F. Uiy

G. UI®x H. sfreRe
g4 &1 wTH B dId
(a)A, B, C B,D,E

(b) C, D, G A,B,C,EFGH
(€)A,C, D, G A, G EF

d) B, C, D, G A,B,D,E, G

A, giciorsan aRkfer &7 v e
ACIsad dww @ A} Rera 2| yrafiie
Wged P QWY @awen (i) dEdr 8-

)] (i)
(a) I=T KIRRe | RO
(b) a1 qrEreliaared
(c) qel KISRe | A RO
(d) qeT qrersiiaared

_A_T@a1__B_§18N) 9Iam@a}vl a7 ARG
Hadl ® 7= AT JgHE USE A 9EaD
T I8 'B'Ul W € U@ W €, A
AT B &l UgA—

(a) A - 931, B - 91§ @4l

(b) A - T, B - dTa<w
(c) A - dIdR=I, B - 9%
(d) A - 9T @4, B - O3

fgdiora=t ufkrt &1 qTel T Aaan

e wider wad 2 qTeTcadr

(a) oTRed, aTuTer (b) aTdTeT, ane

(c) T, faaref (d) ferefa, o

AT 9 & Gad A @ faud fadeu &1

T BIfTA—

(a) TRETHYT UI¥SH dedl § IR 814 & |

(b) SH®T IYART ReeniSAl T2r <18 & 9ISl &
yee # gff a1 B |

(c) SH®I =q ATggIo H qul ddb Hiad fhar ST
Hehdl & |

(d) TRFTEHCI H AUfEaT AR YR ST & S
IRIT fhee BB & |
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Q.169 Given type of vascular bundles in figures are

sequentely present in-

Phloem
Cambium
e Xylem
i £
(A) B)

(a) Stem and leaf

(b) Dicot leaf and monocot stem
(c) Dicot stem and monocot stem
(d) Dicot root and monocot stem

Q.170 Match the column A and B:

Q.171

Q.172

Q.173

Column-A Column-B
(A) Megasporangium i. Stamen
(B) Microsporophyll ii. Carpel
(C) Megasporophyll iii. Ovule

(D) Female gametophyte

(a) A-iii, B-ii, C-i, D-iv

(b) A-iii, B-iv, C-i, D-ii

(c) A-iv,B-iii, C-i, D-ii

(d) A-iii, B-i, C-ii, D-iv

Wind pollination is found in :
(a) Salvia (b) Rose

(d) Grasses

iv. Embryosac

(c) Vallisneria
Typical monosporic angiosperm embryosac
at maturity

(a) 8 celled 7 nucleated

(b) 8 nucleated 7 celled

(c) 4 celled 5 nucleated

(d) 3 celled 0 nucleated

Pollination by water is quite rare in
flowering plants and is limited to about

genera which are mostly

(a) 30, dicots (b) 60, monocots

(c) 30, monocots (d) 10, dicots

Q.174 Diameter of pollen grains are generally about

(a) 10-25 pm
(b) 25-50 pm
(c) 50-150 pm
(d) 150-300 um

Q.169

Q.170

Q.171

Q.172

Q.173

Q.174

faal § fed T "aed ya Hae: Sulerd
BId ®-

f Phloem
Cambium [«
EEIEET— Xylem
i
(A) (B)

(a) 9T 2T Ul

(b) fRdrom= gof e uedsoE e
(c) fRdow=h a1 qer usdouE
(d) fediogt qa qen usdoaE

W ATAT W+ B Bl GAferd BT :
Column A Column B
(A) THEITOLET () THER
(B) @Yy of (i) ST
(C) HATSITorgvf (iiii) FroTTUS
(D) HT&T FHBIGRI (iv) FOTHI

(a) A-iii, B-ii, C-i, D-iv
(b) A-iii, B-iv, C-i, D-ii

(c) A-iv,B-iii, C-i, D-ii

(d) A-iii, B-i, C-ii, D-iv

ARy ORTTVT &9 9Iey § gran Siar 8-
(a) feaam (b) e

(c) afera-Rar (d) 919

TGS THAdISO[d ATgddioiia Yorhiy
gRugaar wR gar -

(a) 8 BIRHIY 7 D=l
(b) 8 B=dIT 7 PIRTDIY
(c) 4 BIRHIT 5 Dbl
(d) 3 BIRGIV 0 Db
el §RT WREATOT Yofig ureal § qgd &9
URIT WAl 8 a2AT I8 THIT GLil
e i 2, @ Iftree.: g

(a) 30, fadioa=i (b) 60, TehdTSTU=T
(c) 30, TehdloTu=T (d) 10, fadrog=i
TRETHUN BT AT AT BT @ -
(a) 10-25 pm

(b) 25-50 pm

(c) 50-150 pm

(d) 150-300 pm
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Q.175 Match the following and choose the correct

Q.176

Q.177

option from below
I I

A. Cuticle (i) Guard Cell

B. Bulliform cell (ii) Single Layer

C. Stomata

D. Epidermis

(iii) Waxy layer

(iv) Empty Colourless
Cell

(a) A-III, B-IV, C-I, D-II
(b) A-L, B-II, C-II, D-IV
(c) A-III, B-II, C-IV, D-I
(d) A-IMI, B-II, C-I, D-IV
Identify the leaf shown below with its example :

Y

y
Leaf Plant
(a) Opposite leaf Banana
(b) Pinnately compound leaf =~ Neem
(c) Palmately compound leaf  Silk cotton
(d) Alternate leaf Guava

Given figure represent ovary-

(a) Apocarpus ovary of Papaver
(b) Syncarpous ovary Michelia

(c) Syncarpous ovary of Papaver
(d) Apocarpus ovary of Michelia

Q.175

Q.176

Q.177

frafafRaa &1 faam sifoe 3k 98 Qs
gfe
I 11

A. SY@Em (i) R BIRHT
B. 3maef aapIf¥Ted (i) UH Ud
C. g (iii) 77 i<y was
D. 9181 @ar (iv) Raa (@refY)

- S Rre

(a) A-III, B-IV, C-I, D-II
(b) A-L, B-II, C-II, D-IV
(c) A-III, B-II, C-IV, D-I
(d) A-II, B-II, C-I, D-IV
= goif =f o= & Serever gfeq et

¥

y
ot gy
(a) FFT <l el
(b) U=BTHR HIT =il Rkl
(c) BEIDR HYad U=l e Bic
(d) TR U=l ™

fear mar RE feg uig ) IveEm B

(d) FUT BT ey [agFdUeyl

Q.178 fa=m # f&@ @ divivs @lwar & @

Q.178 Label A, B, C, D, E, F & G in the given _
figure : 394 A, B,C,D, E, Fa G &r 27
Hilum Hilum
2; 5 A
’ \ ¢ c
' D o
E f £
F ! F
S e _,-7' G
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(a) A -Funiculus, B - Micropylar pole, C - Outer
integument, D - Inner integument, E -
Nucellus, F - Embryo sac, G - Chalaza

(b) A - Micropylar pole, B - Funiculus, C - Outer
integument, D - Embryo sac, E - Nucellus,
F - Inner integument, G - Chalaza

(c) A - Funiculus, B - Outer integument, C -
Micropylar pole, D - Inner integument, E -
Embryo sac, F - Nucellus, G - Chalaza

(d) Both (b) and (c)

Q.179 In the given diagram identify correct region

A,BCD-

(a) A-Root Cap, B-Region of maturation, C- Root
hair, D- Region of elongation

(b) A- Region of maturation, B- Region of
elongation, C- Root hair, D- Region of meristem

(c) A- Root hair, B- Region of elongation, C-
Region of meristem, D- Root Cap

(d) A-Mature zone, B-Meristematic zone, C-Root
hair, D-Root Cap

Q.180 Diagram is given below. Here A, B, C and D
are correctly identified :

(a) A=Abaxial epidermis, B = Xylem, C =
Mesophyll, D = Substomatal cavity

(b) A=Adaxial B=Xylem,
C=Substomatal cavity, D= Mesophyll

epidermis,

(c) A=Adaxial epidermis, B = Xylem, C =
Mesophyll, D =Substomatal cavity

(d) A = Adaxial epidermis, B = Xylem, C -
Mesophyll, D =Phloem

(a) A - dISIvSaT, B - dIGIIUSER, C - 9187 3
JTRYY, D - A<IRS ARV, E - Solvesd,
F - YU, G - FHRT

(b) A - dISIVSER, B - dloveqt, C - d18g e
ITERT, D - YUIhIY, E - d0saHia, F -
ATRE ALATIRY, G - R

(c) A - dISvsg<, B - 989 LA, C -
dIUEER, D - <R 2egraxvl, E -
YUY, F - GIS0SHIE, G - 4T

(d) (b) T (c) <

Q.179 fag 1@ & & w1 A, B, C, D &7 WL

(a) A -HeTUu , B- YRUga 41T, C- Hel M, D-
QIHIhROT AT

(b) A-URYdE ¥RT, B-AIHihRUl AT, C-Hel I, D-
=T aRT

(c) A- ol M, B- ENRY AT, C- [d9sican!
AT, D- Fel 19

(d) A-URuUgd ART, B-[AIdaH! AFT, CHel M,
D-Hel 9

Q.180 4 us =3 f&ar ar €1 ¥8T A, B, C

ADh, D = SR 8T

(b) A = AR AlFH, B = WIseA, C =
SUREI 81, D = qvf HARIS

(c) A = 3rwger offg=R, B = SIgeM, C = Uof

AEdIh D = SURENT T8l
(d) A = =7 3ffd=¥, B = WiIsed, C - U9l
A=K, D = UelIgH
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PHYSICS

Circular Motion, System of Particles and Rotational Motion, Gravitation

1. (a)

By conservation of angular momentum about

hinge O.
L=Io

d | Md? [dT
mv—= +m|—| |@
2 | 12 5

= 2 2 4
2 4 3d
2 (d)
/ em
] L ]
1 1
' :
l\‘ ,,'
\ ¢ 2R > 4
—-GMm

Total energy m

4

R
is added then

10
If energy =

~GMm 10'R  -GMm
4R 6 2r

where r is new radius of revolving and g =

4 2
_ng+10 R :_ng (m =10°kg)
I

4 6
_10°x10xR 10°R _ 10°x10xR’
4 6 2r
1. 1_ R
AT
r=6R.
3. (a)
By(CO.AM)

I1m1 g Izmz . (11 + Iz )mo

gives @, =8 rad/s

1 1
E, = Ellcof + —z—lzcoi =2167J

1 )
:E(Il+12)co5 =1923

~ AE=24]

(@)

At Vmax1 fwill be limiting in nature.

mgz

. Balancing force in vertical direction.
Ncos 30°— mg —u Ncos 60°=0
= N [cos 30— pn cos 60°=0]=mg

800x10

=————~10.2x10° 2
(0.87-0.1) kg m/s

(b)

In uniform circular motion, the magnitude of
velocity and acceleration remains same, but due
to change in direction of motion, the direction of
velocity and acceleration changes. Also
thecentripetal acceleration is given by a= &’r.

(C)

Torque created due to weight of a street light
remains same in all the three cases. It is balanced
by torque created by tension in the string. So if t
be the torque created by weight of lamp and T
be tension in the string and d be perpendicular
distance of cable from the axis then.

(b)
_ G +1M,1
m, +m,
Here, m =1kg; 1, = i+2j+k
m, =3kg; 1, =3i-2j+k

i+ 2j+1k)x1+ (=31 -2j+k)x3
o 1+3

_ —8i-4j+4k

-2 jek
4

1 | e Test Series €1, NCERT &1 fais € |
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© 12.  (b)
Here we can balance torque about wedge point Potential V(r) dueto a large planet of radius R is
as follows given by
{, m GM
1661:62]11:}Z:E .. () Vo(r):—T,r>R
— (,_4 o Vr:_GM'r:R
ml, =4, ::’E,_J_E ... (1) (1) R’
From (i) and (ii) v, :_% GIl:d {1_3;2};1_(1{
m 4 m=64>m=8
16 m 13. (c)
9. (@ 2M
At surface; mg =300 N (M+2m)
= 300 Applying conservation of angular momentum
& MR’0 = (MR + 2mR %)’
R d
At depth Z:gd =g {FE} ®'= 2N
M+2m
R 4. (b)
8:s =8, [1_ a} For beaker to move with disc
3g,
g~ 5 s
g
Weight at depth =mx g, (
=_mix i —
4
3
==—x300 2
4 X f, =mo'R
=225N. We know that f < f
e ) _ o mao'R < pmg
When the fluid spreads out, the moment of inertia
of the system is increased. If ws apply R <HE
conservation of angular momentum. o8
Io =10,
15: (b)
As I increases due to water spreading out, the Th
. eory
angular velocity decrease. When water level falls, 16 o)

I decreases resulting in increaszed angular
velocity.
ll' (c) ]- 2 ]. 2
—mV; =—mV; + mg(2L
When no external force acts on the system and 2 = 3 B g(2L)

initially velocity of centre of mass is zero and so
the centre of mass remains at rest. VD =4/5gL

So, V, =+/eL
1 2

xE), ;m5E) 5

1

Apply energy conservation between A & B

oy _

(KE), %nl(Jg—L)-

2| fE Test Series 18, NCERT &1 frats € |
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17. (b 21. (c)
. _dL AL L _
O = g T A T, B 2m, vzl
H =5Xx—x=
ere AL=5x-x=4x . 3L .
4 S co (1)
At = 5sec torque = gx 1y 2,
_Besm(3]
6=2t+0.5 . 2 Feac
2 3 2
w:@:6t2:6x22 Ll _(& NS e
o . Ty L L Ty
=6 x 4 = 24 radian/sec.
y—-x—4=0 27 | m, Ty
d, is perpendicular distance of given line from 22.  (d)
origin.
d, = |—=—{=22m
A 2GM,
| NS = e (i)
So, |IL| =mvd, = 5x3+/2x2v2 kg m* /s E
=60 kg m*/s 2GM
g W= R £ . (ii)
20. @) P
Casel:r <R v
c_\r
H H 2 VP
jdm:jpxélm"dr
0 0 V., 112
V,=—F_~=—"1+=179
. L2 km/sec.
ZIEX‘I'TU.':dr 23 C
J; NG
: V=,/2¢gR sina
:4nkjrdr s
2 N -mg sina:%:2 mg sina
—4:&:1{£
2 T X ——
m = 2nkr-
Gm G(2mkr’) -t
T2 = L >
Case-II: r > R mg
GM
F=—
r N ——
1 2mg sin a 2
Fx —
2
3| Riw Test Series &), NCERT &1 frats & |
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— A= constant.
24. (©)

The position of centre of mass of a body depends
on shape, size and distribution of mass of the body.
The centre of mass does not lie necessarily at
the centre of the body. Many objects have a point,
aline or a plane of symmetry. The centre of mass
of such an object then lies at that point, on that
line or in that plane. Also the centre of mass of
an object need not lie within the object, like no
iron at the centre of mass of an iron ring.

25. (c)
Torque about O =0

5O

N,

| Q0° 120
O ¥

120[%005 60° ]— N,L=0

N,=30N
26. ()

1
gx RE Sowe will not get a straight line.

AlsoF
= Force due to Mars.
27. (h)

=0 at a point where Force due to Earth

28.

29.

v R,
v VR,
Ve B
30 V75
v,=24m/s
(@)

—

o*X)

aslnalananT
¥

At elongated position (X),

sy 2
Fra dial L0 B

L kx=m({+X)®

mlw’

k- mo’

l\dRzL MI_ -,
= jdx:—jrdx
4L 4 L=
_ﬁ( —0)+ ME
4L
MR® MI’?
=— L=4R
4 3 ( )
3MR’ + 64MR* MR®> MI?
I= SI=r—
12 4 3
MR> M(4R) 67 MR’
5 I= e e
4 3 12
mi: =R g - %R

4| % Test Series 5idi, NCERT &1 fate & |
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33. b
K [3 (b)
2 " IR,
30. (@ _GM
a :sz,R:Im Ré
N K=mgR,
ar:[zzxzn] R-1 34. (1)
44
p= MM _ L oR
v g
a, o o« 12 e 2
R=1m S0, T2 oc R52
35. (b)
y 4a
a, = dv -0 C.O.M. of half disc is at a distance of P from
gl caitre
a_. =a =7’ ms~anddirection along theradius  3¢. (b)
towards the centre.
2n 1
31. (c) w= — =W —
m,AxX. + m,Ax,
Ax, =—1—1 22 T, e =27 days
Ly
T. .. =365 days 4 hour
0 10x6+30(Ax,)
- 40 = wmom =2 Cl)earr}:l
AX,=-2cm 37. (®)
J . Fora uniformly accelerated motion there are two
Block of mass 30 kg will move towards 10 kg. acceleration, one along the radius called radial
32. (a) acceleration and another along tangent called
tangential acceleration. Velocity is directed along
the tangent.
38. (©)

Bicg l
26 —T=2a ... (1)
MR’
TR =—— (i)
2
a
a=— ... (1id)
R
T=2a
2g-T=2a
T=g=10N

When body is hinged at a distance x, then moment
of inertia is given by:-
= I=x*-2x+99

As we know Moment of Inertia (I) about Centre
of mass (com) is minimum

dl
= a =minimum about COM
— ﬂ =2x-2=0 =1
oo X-2=0>x=
Hence, Coordinate of Centre of mass is 1 unit.

_ —8i—4j+4k

=-2i-j+k
4 J

5]
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39.

@)

0
(I)
From Fig. (I), we have OC =r (radius)

Therefcre, v=rm
Since, ® = constant, therefore v cr

Now, form Fig (II), it is dear that the distance,

m,=cx6=12Kg
A

W

©7)
= mX,+m,X, =m,X,
10x, +2(1.5) =12(1.5) = x, =1.5cm

= my, +m,y, =m,y,
10y, +2(1.5)=12x1= y, =0.9 cm

OP <OC < 0Q i o5 1D
0.9 9
SV < V<V i ia N M
40. (b) n=15
43.
O _ 2o =
P 1 , GMn
dt KE=—mv = =
° 2 2a
[do=2¢ -1 PE = —2KE
e TE=-KE
0=10+2t"—t 44.  (¢)
490 _ 0108 ¢ ~171+19j-4k
dt .
i i j k
[do=(10+2¢ —¢*)dt T=txF=[2 2 1
4 S 3 7
L] t4 t3 .
jd9:10t+?—? =i(-14—3)— j(—14—5)+ k(6—10)
4
‘g = _17i+19j—4k
0=4+10t+———
5 3 45 (a) . .
Applying law of conservation of energy for
41. (a) .
rotating body.
Under central force field, force acts along the , |
line joining the bodies so it does not have rotatory —mv’ +=Io’ = mgh
effect i.e. torque is zero. Hence angular 2 2
momentum is conserved. I 5 12 » ¥
—mv- +——mr- x— =mgh
42. (a) 2 5 r’
m, =ox5=10Kg v o2y —gh
m =ox5=10Kg  m,=ox1=2Kg e 0
e _ AR ho v =Vgh
o I e =Y 10 7
-] == s o i "1’
e =g T 10
ZZoMGs, v ! v>.|—gh
L > ‘ > 7
6| Riw Test Series &), NCERT &1 frats & |
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CHEMISTRY

Some Basic Concept of Chemistry, Structure of atom

46. () 51, (@)
In the first oxide, the percentages of O and S are 38
50% and 50 %, respectively. Thus, 1 g of oxygen Moles of CO, in 88 g of CO,= 1 =2
will combine with 1 g of sulphur.In the second
oxide, the percentages of O and S are 60% and Hence no. of molecules of
40%, respectively.Thus, 1 g of oxygen will CO,=2x6.022x10%=1.2044x10*
5 52. (b
combine with — g of sulphur. The ratio of weights
f sulph hz"h bine with 1 g of Moles of Ca*™ —3'01”023 .
t oles of Ca™ = .
of sulphur which combine wi g of oxygen 6.00<10° 2
. 1 . 2 =
=gl Voles of oL 5:023x10%
e e ————
47. (C) 6023X1023
GH,+ SOamCOanil o Hence moles of CaCl,= l
Volume of CO, = 3x10ml =30 ml 2
48. a 1
@ ] ) Mass ofCaCljz—Xlllzss-sg
Assume metal is M and mass of metalisx g. 2
As we know,Molecular weight of compound 53. (@)
=2 x vapour density =2x50 =100g........ (1) No of molecules = Moles xNa
Also, valency of metal is 2. Highest number of molecules is in 34g of H,O
So, metal chloride is MCL, — Ex Na
Molecular weight of metal chloride " 18
=x+35.5x2=x+71=100 (from equation 1) (_) ] )
: First oxide Second oxide
So, molecular weight of metal,
M 50% M =40%
x=100-71=29 g;"]mol. (e 50% Fomlula =9
49. (c) Let the atomic weight of metal =x
As given, three moles of Mg require two moles Ixxx100
of N - % of M in MO, :—X+32 =50 (given)
So, 3x24 (molecular mass of Mg) mass of Mg Hence x = 32
will require 2x14 (molecular mass of N) mass of . Empirical formula of second oxide:
N.
78 0:@:3.75M:£:1.25
So, N required for 3.6 gof Mg —-x3.6=1.4¢g 16 32 _
72 Thus, the formula of second oxide = MO,
50. (d) 55 (b)
As we know, (a) 2gm atom of nitrogen =28gm
1 mole= 1 gram atom= Molar mass (b) 6x10* atoms of C has mass
1 gram atom of Calcium=40gm 7
So, 2 gram atom= 2x40=80 gram . w =
6x10°
(c) 1 mole of S has mass =32gm
(d) 7.0gm of Ag
So, lowest mass =6gm of C.
7| e Test Series €1, NCERT &1 fais € |
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P 2 .
56.

(©) 2.45x1000
A Molality = :
7.23x10% molecules ofCOE ty 1000%0.976—2.45%x32
—Mmol—l 2 mol 61 carem
6.023x10” ' = i)
3.01x10* atoms of Ar  %m/mx10xd
_301x10% o s mol Mol.wt
Te0mx10® 0 e 3 %m/mx10x1.2
Total moles=1.7 106
Volume occupied at STP=1.7x224 L %m/m= 3x106 =26.5
38.08L
=3.8x10*mL ppm of Na,CO,
57. (b) _ weight of component(g) <10°
1 total weight of solution(g)
Mg+-0, -» MgO
2 16 26.5 5
" i = o x10° =2.65x10°
16
lgm Mg requires ﬂ g oxygen
So, 3gm Mg requires 82: (5)
) Mass of methanol in 1 mol solution= 0.5 x 32 =
Ix gzzgm of oxygen 16 g. Mass of water in solution=0.5 x 18=9¢g
16x100
So, 3g of Mg and 2gm of oxygen reacted and D L oTe thana] = — 64
lgm of oxygen left. 16+9
58. (o) 63. (b)
3 64. (a)
M +—=0, - M, 0,
2 ¢ 3x10°
Mass of O, react with 0.54g of M is "L 980x10°
=1.06-0.54 =0.48¢g
0.48g of O, react ....... 0.54 g of M 65. (0
0.54 For hydrogen like species
SEOL e 0.48 x8=9% wave number xZ? =15200x32= 12500 x 9
= 136800 cm™
Atomic wt 66.
Equivalent weight of M =98 = —————— @
3 67. (b)
Atomicwt=9x3=27g¢g 68. ©
59. (a)
r=n’ x0.529 for hydrogen
Molarity = 0.625 =12.5M Therefore, the ratio of radii of first three orbit is
0.05 givenby
60. ®) Lol iy~ 520538
1 s O LB N
: Mx1000
Molality = &
1000 x d — M x Mol.wt
8| Rr® Test Series 71, NCERT @1 frats 2 |
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69. b 74. (a)
2 1 /|
v=7"Re| — —— o 8
n; n; mv
_27
For hydrogen atom, = &03
_ 200x3x10
2 I 1 5Re
Uoz(l)_RC — | =
127 3] 36 6.6x107
For singly ionised He atom, B 6
= Ly )
5 _(2)2RC 1 - 1 B 20 Re A=1.1x10""cm
0 I 2?2 3 36 ek (d)
L Ax < AP = g
—=4orv=4v, i
v
‘ = AP >
70. (d)
76. (c)
(IE)y =E.-E, =-E =x No two spectral lines of one element have same
13.6 13.6 wave number.
PwtE,=——5=——=-13.6
n’ : 77. (©)
36 [ 136 5 s Magnetic quantum number ( m ) gives idea about
AE=E,-E, :——;—(— = ]:—13.6><— =X orientation of sub shells.
A & 2 36 36
78. (b)
71. (c) 79, @)
T 2_751‘ E,-E, is maximum for H atom and
v
E.—-ES hic
k . A
n
Toc 77 80. (a)
3 The wave length of a spectral line may be given
L o | 1:8 by the following expression
g 08 n,
1 1 1
= Q viced
Work function is given as = hu° :% For ]2_yman series n, = 1, For Balmer series
n c—
1
6.62 10" x 3x 10° For the last line in both the series n n, ==
- 330x10~° For Lyman series
=6x107"J 1 ) 1
73, (@) A ZR[ ;)ZR(I—O)=R
When intensity is doubled the number of electrons
emitted per second isalso doubled but the average AL = &
energy of photoelectrons emitted remain the same R
For Balmer series
9] Rr® Test Series 71, NCERT @1 frats 2 |
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83.

(©
The energy of an electron in H-like atoms is given
by

4
\n =— E =KE. +PE.
AB R
Ze?
s 4 R 4 o -
. From the stability of the circular motion of electron,
81. (b
we have
The energy (P.E.) of the electron is a function of | )
its distance from the nucleus and is given by mv _ Lﬁ .
Coulomb's law as r (4meg)r”
o2 1 Zé? Ze?
PE.=- — Hence E =7 (me,)r ~ (dneg)r
Total energy = K.E. + P.E. 1 Ze?
s 2 O 8= 5 (4mey)r
B ST S e
= Jmve - e [2 2r] 84. (c)
e’ ¢
__cn v=—
2r x
as ‘r’ decreases energy will go on decreasing. .
82. (b) For violet (400 nm) v = 400x10~°
d in first orbit ( 27 c
Time period in first orbit (T,) = ~_— _
A Forred (750 nm) v, = 750x10~°
Time period in second orbit (T,)="_ " L = 50 = =
= ¥ v, 400 8
T 2my v, 85. (b)
T, v,  2m, i
Orbital angular momentum= ,/¢(£+1) -
S 2n
- I, Vi .
) ) ) ((¢ +1)=h for S-orbital £=0
Velocity of electron in first orbit ! ]
. So orbital angular momentum is zero.
2.188x10
. —IX cm 51 -0 @
Given c¢=3 x 108 m/sec
Velocity of electron in second orbit 16
v=>5x 1010 cycles/sec
_ 2188x10° =g
a 2 R We know that
Radius of first orbit 16
v 5x10
=0.528 x 1078 cm ¥ 3X [oF = 11666 108 m1
Radius of second orbit =
=0.528 x 108 x 4 cm
T, _ _0528x10° 2.188x107° _ 1
T,  0528x10°x4  2x2.188x10° 8
10| R Test Series &1, NCERT &1 frals & |
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87. () 88. (b)
_ 89. (b)
V=50 X 30.000 9. (a)

=0.3 cm sec™1
According to uncertainty principle,

h
AX.Ap ~ — ;;AX.Ap =

4 4nm

6.625x10%" x7
4x22
Ax = 193 cm

Axx 9.1 x 1028 x 0.3 ~

(SPACE FOR ROUGH WORK)

11] % Test Series 5id], NCERT &1 fate & |
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Morphology of Flowering Plants, Anatomy of Flowering Plants, Sexual

Reproduction of Flowering Plants

91. (b) 102. (d)
Guava, cucumber, ray florets of sunflower — Root hairs are unbranched.
inferior ovary Plum_, rose, Peach — Halfinferior 3. (a)
chinarose, brinjal — superior ovary. .
In a racemose inflorescence, the central stem
92. (@ continues to grow, and flowers are borne laterally,
NCERT XI Diagram of Dicot root. while in cymose inflorescences, the central flower
Page No. 74 blooms first, and the growth of the axis is limited.
93. (a) 104. (a)
NCERT XI statement of monocot root Upto 30 minutes.
Page No. 74 105. (d)
94. (b) Mesophyll cells are differentiated into palisade
i i and spongy parenchyma.
Primary roots are short lived and replaced by
fibrous root system. 106. (a)
095, (C) A-V_, B-i.V_, C-lll., D-ll, E-i
The female structures of angiosperm are called 107.  (d)
Carpels and they produce ovules. The trichomes are multicellular elongations of the
96 @ epidermal cells which help in regulation of water
) loss.
Vexillary aestivation is found in the Fabaceae 108 a
family, where the two lateral petals are called e G
wings, and they are distinct from the other petals. (a)A-s,B-p,C-t,D-q
97. (a) 109. (d)
Subsidiary cells are found around the guard cells Gaseous exchange and loss of water vapour
of stomata and help regulate the opening and 110. (b)
closing ofthe stomatal pore. Collenchyma, Parenchyma
98. (@ 111. (o)
NCERT Diagram of dicot seed (gram) page No. . .
66. (Number of Cotyledons = 2) Endodermis starch rich layer.
§9) @) 112. (d)
C e e When calyx and corolla are indistint. This is called
1-B, 1—C, 11i-D, iv—A perianth.
100. (a) | | 13. ()
" dlC.Ot s et s g e G Shoot apical meristem, Acropetal order
cambium between xylem and phloem) and can
form secondary tissues (xylem and phloem). 114. (o)
101. (a) Ovary in potato —>superior.
The Casparian strip is a band of suberin in the 115.  (©)
cell walls of endodermal cells that blocks passive Usually one microspore mother cell gives rise to four
flow of water and dissolved substances, forcing functional microspore
them to pass through the cytoplasm of 116. (o)
endodermal cells.
Leaves of dicot generally possess reticulate
venation.
12| e Test Series €1, NCERT &1 fais € |
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117. (b) 134. (a)
i-(B), ii-(A), iii«(C), iv-(D) XII NCERT Diagram page no. 19 (Grass
118. () embryo)
Orchid fruit contain more than thousands seeds 133 (D)
119. () Statement I is correct & II is incorrect
Mesocarp is edible fleshy part of mango Guard cells do have chloroplasts, so Statement II
is incorrect. The thickening of the inner walls is
120. (@) true for guard cells, as they help in controlling
Seed is formed from ovule after festilisation. stomatal opening.
121. (o) 136. (d)
C represents coleorrhiza of seed. Canna
122. (a) Canna flowers are asymmetrical, while the others
Ovile:convert into seeds (Pea, Gulmohur, and Cassia) are either bilaterally
or radially symmetrical.
123. (d)
137. (¢
Mustard — Tetradynamous stamens . ] ] o
Meristematic cells are actively dividing cells,
124.  (c) responsible for growth in plants.
The viability of pollen grainis mainly dependon ;34 (a)
temperature and humidity both. Protoxylem is formed first during development,
125. (a) and metaxylem develops later as the plant grows.
Coconut, castor (endospermic seed). 139. (b)
126. (a) In Vallisneria, pollination happens through water
(a) A-V, B-IV, C-]IL D-II, E-I (HOt air or il'.lSECtS),
127.  (c) So Statement b is incorrect.
One margin of the appendage overlaps that of 140 (d)
o b : Pea plants typically produce only one type of
th t d t lled llary. : . :
©nextone and £ gL caileC vexItaty flower, unlike the others (Commelina, Oxalis, and
128. (a) Viola) which may have both male and female
Stem arises from plumule of germinated seed. flowers.
129. (b) 141. (d)
—196°C Seeds of Lupine may have viability period upto
130. () 10,000 years.
Alternate manner in mustard, china rose, sun 142. ()
flower plants. 5 (Palisade tissue, Spongy parenchyma,
131. () Epidermis, Vascular tissues, Bundle sheath cells).
Fruit formation is a characteristic feature of i 40 _ _
Angiosperms and produced after fertilization. In maize plant the leaf base is expanded.
132. (b) 144. (b)
Drupe fruit: developed from monocarpellary Arranged in an acropetal succession.
superuir ovaries. 145. (b)
133. (b) Mustard, Datura, Chilli, Chinarose,
@ for actinomorphic Brinjal = actinomorphic
% for zygomorphic
13| R Test Series &1, NCERT &1 frals & |
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146. (¢ 154. (d)
n=>5 True fruit: developed by ovary —
Endosperm (3n) — 15 Mango, Tomato, Legume pod
Eggcell(n) —»5 155. (d)
Polar nuclei(n) —5 Diagram Based questions
147. (a) 156. (a)

i-(a,A), ii-(b, B), iii-(c, C),iv<(d, D) Post fertilisation event —» A, C, D, F
148. (a) 157. (a)

Diagram of NCERT XII Assertion and reason both are true, and the reason
149. (a) is the correct explanation of the assertion.

The vascular tissue system in plants includes both ~ 158.  (©)

xylem (for water transport) and phloem (for food The aleurone layer in maize is rich in proteins

transport). Cambium is a meristematic tissue and enzymes and plays a key role in seed

responsible for the growth of these vascular germination.

tissues, but not directly part of the vascular tissue

. 159. (a)

system itself. -

150.  (b) Bred ¢ Epiy Ky G AuG, .,

Statement-I is incorrect because not all ovaries 160. (a)

bear only one ovule; many ovaries bear multiple All tissues except epidermis and vascular bundles.

ovules. Explanation: Ground tissues include parenchyma,

Statement-II is correct because the placenta is collenchyma, and sclerenchyma, which are

the structure to which ovules are attached in the responsible for functions like photosynthesis,

ovary. storage, and support.
151. (a) 161. (c¢)

These microspores mature into 4 pollen grains, Pollen grains are well reserved as fossils because

and each pollen-grain contains 2 male gametes. Sporopollenin present in exine of pollen grain.

Thus, 1 pollen mother cell produces 8 male ¢, (@)

gametes. ] ]

_ Pollen grain, ovule. Explanation: Male gametes

To form 80 male gam.et‘es, the number of pollen (sperm) are carried by pollen grains, and female

mother cells reburied is: gametes (eggs) are carried by the ovule.

Number of PMCs 163. (d)

__ Total male gametes Hilum. Explanation: The hilum is not part of the

(male gametes per PMC) wall layers of the microsporangium. It is the region

10 pollen mother cells are requried to form 80 wht.ere the seed is att.ached t_o the ovary wall,

male gametes. unlike the en(.iothecmm, middle layers, and
tapetum, which are components of the

152. (a) . .
microsporangium wall.

Some fruits are seedless or contain non-viable ¢, (b)

seeds due to parthenocarpy (development without )

fertilization) or due to failure in seed development Gram seed Maize seed

after fertilization. C,D,G A B,C,E,FFGH

153. (d) 165. (d)

Zygote is formed by fertilisation. Inroots, the protoxylem lies towards the periphery
and metaxylem towards the centre; this
arrangement is called exarch.
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166. (b) 174. (b)
Stomata are present on leaves for gas exchange, Diameter of pollen grains are generally about
while lenticels, found on stems and woody parts, 25.50
-50 um
also allow gas exchange but are not found on
leaves. 175. (@
167. (a) A-III, B-IV, C-1I, D-II
The abaxial epidermis (lower surface) of dicot Ite. 1e)
leaves generally has more stomata than the Diagram Based questions (XI NCERT)
adaxial epidermis (upper surface). 177.  (c)
168. (d) XII NCERT Diagram.
Pollen grains possess non-sticky covering called  7g. (a)
pollen kitt - Pollen grains are known to have a ] ]
sticky covering called pollen kit, which helps in A - Funiculus, B - M}cropylar pole, C - Outer
their attachment to pollinators. integument, D - Inner integument, E - Nucellus,
F - Embryo sac, G - Chalaza
169. (o)
_ 179. (b)
Dicot stem and monocot stem . ]
Diagram Based questions (XI NCERT)
170. (d)
180. (d)
A-iii, B-i, C-ii, D-iv i~ — . (XI NCERT)
iagram Based questions
171. (d) & 1
Wind pollination is found in : Salvia, Rose,
Vallisneria
172. (b)
8 nucleated 7 celled
173. (o)
30, monocots
(SPACE FOR ROUGH WORK)
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